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� ��� �1�1� ��� ��
�

�� ����������� �� � �������
�����
 �$
������ '���� �
������� �� W 1,p
loc (R) ���� p ≥ 1

��� �
��	�����

� ������
�
�� 0���%��3� �$
����� �� ��	�
�� �� ��� .�	����*(�
	
�$
����� �� ���� �� ��
� ��	��� ������
�
� �������
�����
 ��

����� ��� ������� ��
��� ��"�������*+������ �$
������ ����� ��� ���������
�
� ��

����� �� ��

��

4�%� ��� �$
������ �� ��� b���	�
� ������ 0���%��3� �$
����� ��	��� ��� ���
���% ����� �
�� ��!���� 	

�����%�� ��

����� �� ��� ���	 ���1�� �
� �� ���� ����



�������� �	�����
��
 ���	���
� �� 
�������� ��	
���
 ���

��� ���� �	
 ��� �	����	
� �
� �	��
�� �
�

ẋk = u(xk)2 =

(
n∑

i=1

mi e
−|xk−xi|

)2

,

ṁk = −mk u(xk)
〈
ux(xk)

〉
= mk

(
n∑

i=1

mi e
−|xk−xi|

)⎛⎝ n∑
j=1

mj sgn(xk − xj) e
−|xk−xj |

⎞⎠ .

�����

����� ������	
� ��
� ������ �
 ����� ���
� �� ��� ���	 ��	�
 ���� ���� �	
������� �
 �����	
��
 ������ ẋk = {xk, h}� ṁk = {mk, h}� !�
�
���� "� ��� ����  �����	
#
��
 h = 1

2

∑n
j,k=1mjmk e

−|xj−xk| �� ��� $������% 	�� ���&	
�� "�� ���� 
������
�	 � ��'�
�
�� 
	
#��
	
����� (	���	
 ��
����
� !�)�
 "�

{xj , xk} = sgn(xj − xk)
(
1− E2

jk

)
,

{xj ,mk} = mkE
2
jk,

{mj ,mk} = sgn(xj − xk)mjmkE
2
jk, ���
� Ejk = e−|xj−xk|�

���*�

+� ���� "� ��	�
 "��	�� ����� �� � ,�	�)���� �
��!
�"�� ������ ����	
�� ��-�. �

����� �� �� �)�
 �/�������� �	�)�"�� �
 ��
�� 	� �����
��
� ��
���	
� ����	
�� 0�1��

�� ����	�
 ��
���	� �����
�

2
 	
��
 �	 �
��!
��� ��� 3	)�&	) ���&	
 ����� �� �
� !	�
! �	 ��&� ��� 	� ���
���
�/ ,�/ ���
 �	�
� "�  	
� �
� 4�
! ����� �����5�� "� ��� �	��	��
! ���
�/
��
��
 ������6

���1�
∂

∂x

⎛⎝ψ1

ψ2

ψ3

⎞⎠ =

⎛⎝0 zm 1
0 0 zm
1 0 0

⎞⎠⎛⎝ψ1

ψ2

ψ3

⎞⎠ ,

���7�
∂

∂t

⎛⎝ψ1

ψ2

ψ3

⎞⎠ =

⎛⎝−uux uxz
−1 − u2mz u2

x

uz−1 −z−2 −uxz
−1 − u2mz

−u2 uz−1 uux

⎞⎠⎛⎝ψ1

ψ2

ψ3

⎞⎠ .

�$	���
�� ���� 
���
�
�� ���� �� ��)� ����� � �	
���
� �������� 	� ��� ���
���� �	
��� ���
�/ 	
 ��� 
�!�� ��
� ���� 	� ���7�� �
� ���� z �
 ����� 	� λ�� 2
 ��� ���&	

����� ���
 u =

∑n
i=1mi e

−|x−xi|� ��� ���
���� m = u − uxx = 2
∑n

i=1mi δxi
�� �

����
��� �����
�� 4� ������ ���� x1 < x2 < · · · < xn ������ �� ����� 
����
� �
��
�	
 � ����� �� �� �� �
�� �	
 t = 0�� ����� �	�
�� ��)��� ��� x �/�� �
�	 n+1 �
��
)���
����� �� 
��"�
 �
	� 0 �	 n� �	 ���� ��� k�� �
��
)�� 
�
� �
	� xk �	 xk+1� ����
��� �	
)�
��	
 ���� x0 = −∞ �
� xn+1 = +∞� 8�
�� m )�
����� "�����
 ���
�	�
� ������� ������	
 ���1� 
������ �	 ∂xψ1 = ψ3� ∂xψ2 = 0 �
� ∂xψ3 = ψ1 �

���� �
��
)��� �	 ���� �
 ��� k�� �
��
)�� �� ��)�

�����

⎛⎝ψ1

ψ2

ψ3

⎞⎠ =

⎛⎝Ak e
x + z2Ck e

−x

2z Bk

Ak e
x − z2Ck e

−x

⎞⎠ �	
 xk < x < xk+1,

���
� ��� ����	
� �	
���
�
! z ��)� "��
 �
��
��� �	
 ����
 �	
)�
��
��� �����
��������� �	����	
� �
� ���
 !���� �	!����
 �� ��� �	�
�� xk� ��� �
	��
 �
��
�
�#
����	
 	� ���1� �� ����� �	�
�� ��

� 	�� �	 "� ���� ψ3 ���� "� �	
��
�	��� �����



��� �����	 �
 	
 ����
 ���� ��������
 ��� ����� �����������

ψ1 ��� ψ2 ��� ������� 	� 
��� �
�� ������	��
�	���� ��������� �� 	
� 	��� zmψ2�
��� �
�
�� 	��� ψ2(x)δxk

	� ����
〈
ψ2(xk)

〉
δxk
� �
�� ����	 �� �
��� ��������� ��

�������� �� �
�� ����� 	�⎛⎝Ak

Bk

Ck

⎞⎠ =

⎛⎝1− λm2
k −2λmk e

−xk −λ2m2
k e
−2xk

mk e
xk 1 λmk e

−xk

m2
k e

2xk 2mk e
xk 1 + λm2

k

⎞⎠⎛⎝Ak−1

Bk−1

Ck−1

⎞⎠
=: Sk(λ)

⎛⎝Ak−1

Bk−1

Ck−1

⎞⎠ , �
��� λ = −z2.

�����

 � ������ 	
� !�
����� �����	��� (A0, B0, C0) = (1, 0, 0)� �
��
 �� ������	��	 ��	

	
� 	��� ����
	��� "���� !� ���#� ��� x < x1� �
�� ��� (Ak, Bk, Ck) ��� ��	�������
!� �
�������� �������	��� �� 	
� �
�� ��	����� Sk(λ) �� �� ������ $�� x > xn�
�%
�	��� ���#� ������� 	
�	 (A,B,C) := (An, Bn, Cn) ������� ��

���&� Ȧ = 0, Ḃ =
B −AM+

λ
, Ċ =

2M+ (B −AM+)

λ
,

�
��� M+ =
∑N

k=1mk e
xk � �

� A �� ��������	� '	 �� 	
� (1, 1) ��	�� �� 	
� 	�	��

�
�� ��	���

���(� S(λ) = Sn(λ) . . . S2(λ)S1(λ),

��� 	
������� �	 �� � ���������� �� λ �� ��"��� n�

���)� A(λ) =

n∑
k=0

Hk(−λ)k =

(
1− λ

λ1

)
. . .

(
1− λ

λn

)
,

�
���H0 = 1 ������ S(0) = I� 	
� ����	�	� ��	����� ��� �
��� 	
� �	
�� ���*����	�
H1, . . . , Hn ��� +������ ����
	��" ����	��	� �� ��	��� ���� �
������ ��# ��� ��)
!������
�
� ,��	 ������ �%
�	��� ���-�� 	�"�	
�� ��	
 	
� !�
����� �����	���� ���������

!� 	
� ��%
������	� 	
�	 B0 = C0 = 0 ��� An(λ) = 0� �� � ����	��� ���!���
�
��
 
�� 	
� .���� λ1, . . . , λn �� A(λ) �� �	� ��"�����
��� ��� !� �������� ���
�
�
�� ���
��� ��� 	
�	 �	 �� 	
� ������������" ���
�� �� z = ±√−λ 	
�	 ��� 	
�
��"�����
��� !
	 �� ���� ���� �
�� 	
�	 	
� λk ��� ����	���� �	 ����	 �� 	
� �
��
������ ����� ��� 	
������� ���� ���������	 	� ���� ��	
 	
�� 	
� �
���� ���"�����
���
�� �� z� ��� ���-/� !������
0������	��� �� ψ1 ���� ���-� "���� ∂xψ2 = zmψ3 ��� (∂2

x − 1)ψ3 = zmψ2�
��� 	
� !�
����� �����	���� �!��� ����� 	
�	 (ψ2, ψ3) → (0, 0) �� x → −∞ ���
ψ3 → 0 �� x → +∞� 1���" 	
� 2����3� �
��	��� −e−|x|/2 ��� 	
� �����	�� ∂2

x − 1
��	
 �����
��" !�
����� �����	����� �� ��� ���
���� 	
� ���!��� �� � ���	�� ��
��	�"��� �%
�	�����

ψ2(x) = z

∫ x

−∞

ψ3(y) dm(y),

ψ3(x) = −z
∫ ∞

−∞

1

2
e−|x−y|ψ2(y) dm(y),

���4�

��	
 ��	�"���� 	���� ��	
 ������	 	� 	
� ������	� ����
�� m = 2
∑n

i=1mi δxi
� 5����

	
��� �� �"��� 	
� ���!��� �� 6���� ���	�� �
�	������" � �
��	��� ψ2 ��	
 �
��
������	��
�	���� ��� �� 	��� ψ2(x)δxk

	� ���� 	
� �����"�
〈
ψ2(xk)

〉
δxk
� �� �
��



�������� �	�����
��
 ���	���
� �� 
�������� ��	
���
 ���

��������� �	�
 �
� ����	�� ��
�	�	�� �� �
� �	������ ���� ������	�� 	� �
� ��������
�������� �
��

〈
ψ2(xj)

〉
= z

(
2

j−1∑
k=1

ψ3(xk)mk + ψ3(xj)mj

)
,

ψ3(xj) = −z
n∑

k=1

e−|xj−xk|
〈
ψ2(xk)

〉
mk,

�����

�
	�
 ��� �� ��	���� 	� ����� ����	� �����	�� ��

������

(〈
Ψ2

〉
Ψ3

)
= z

(
0 TP

−EP 0

)(〈
Ψ2

〉
Ψ3

)
,

�
���

Ψ3 =
(
ψ3(x1), . . . , ψ3(xn)

)t
,〈

Ψ2

〉
=
(〈
ψ2(x1)

〉
, . . . ,

〈
ψ2(xn)

〉)t
,

P = diag(m1, . . . ,mn),

E = (Ejk)n
j,k=1, �
��� Ejk = e−|xj−xk|,

T = (Tjk)n
j,k=1, �
��� Tjk = 1 + sgn(j − k).

������

��� ����� T 	� �
� ����� ��	������� n× n ����	� �
�� 
�� 1 �� �
� ��	� �	������
��� 2 �!��"�
��� ����� 	��� �� ����� ��

〈
Ψ2

〉
����� �� 
�!�

����#�
〈
Ψ2

〉
= −z2TPEP

〈
Ψ2

〉
,

�� �
� �	���!����� ��� �	!�� �" 0 = det(I + z2TPEP ) = det(I − λTPEP ) �
���
�� ������ I ������� �
� n × n 	����	�" ����	�� $	��� �
� �	���!����� ��� �
� %����
�� A(λ) ��� �	��� A(0) = 1 	� ������� �
��

����&� A(λ) = det(I − λTPEP ).

�
	� �	!�� �� � ��	��" �������� �����������	�� �� �
� ��������� �� ���	�� Hk �
	�

�" ��
�	�	�� ��� �
� ���'�	���� �� A(λ) ���� ���(�� ��� 	� ��� �� ���� �!�� ����
����	�	� �
���� �� �
� ���	��� ����	�����	�� ������ 	� �
����� ���� )� ���	�� �
�
������ �
�� � k × k ����� �� �� n× n ����	� X 	� �" ��
�	�	�� �
� ������	����
�� � �������	� XIJ = (Xij)i∈I, J∈J �
��� ���� ��� ������� ��� �������� �����
�
��� �� X �" ��� 	���� ���� I, J ⊆ {1, . . . , n} �	�
 k �������� ���
 ��� � ��������	
����� 	� ��� ��� �
	�
 I = J � *������ �
� ������ �� �
� �
����� �	�
 �
� ����+
����� ���� �
�� �
� ���'�	��� �� sk 	� det(I + sX) �,���� �
� ��� �� ��� ��������	
k × k �	���� �� X  ���������� �� �
��
�� X 	� �"�����	� �� ����

������� ��� �-�
� *����� .�" �
�����/�� 
�� �
� ������ T �� ������ ��
�� ������ ������ �
��� ��� ��� ��������� n × n ������ X� �
� ��������� �� sk

�� �
� ��	������	 det(I + s TX) ����	� �
� ��� �� �		 k × k ������ ���������	 ���
������������	� �� X�

����	� �
� ����� 	� ��������� 	� 0�����	� 0� �� ���	�� �� �
� *���
"12	���
������� 3	�����4�5� 3���� ��� ���� ���
�� 	���	���� ���������	�� ����� �
�
�	���� �� X ��� �� �
� �"�����" �� �
� ����	�� �

�
����� ��� 	� ����� ����� �
� ���� �
�� �� ������� ��"	�� �� ���!� 	�6 7��" � 
#��8 *�����5� ���	���� ��"� ��� ������ ��� �
�� �
� ����� ��� ���� �	'���� �
��
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 ����
 ���� ��������
 ��� ����� �����������

�� ��������� 	
 �� ����
� ���	� �� ����� � ��� ���	 ������� ����������� ��� ��	���	
	
 ���� �� �
� ���� ��� �
��
���� ��	������
� 
� ��� �
�	����	 
� �
��
��

������� ���� ��� ������� 	�
��� �
��  !��� 
���� n �����
��� �� ������
H1, . . . , Hn� ����� Hk ���
�� ��� ��� �� 
�� k × k ������ �	�����	
� 
�� ����
	�����	
�� �� ��� n× n ��������� �
���� PEP = (mjmkEjk)n

j,k=1 �!��  ��""� ���

���
���� �

����	� #��	 �
��
�	 �� 
��� ��
�  ��$��  ��"!�� ��� #��
��� ��"� �


���
�� ��!� #�� 	�� 
� ��� 1 × 1 ���
�	 
� PEP �	 
� �
��	� %�	� ��� 	��

� ��� ������	�

 ��"�� H1 =
n∑

j,k=1

mjmkEjk =
n∑

j,k=1

mjmk e
−|xj−xk|,

��� ��� &�����
���� 
� ��� ���'
� ()*	  !��� �	 h = 1
2H1� &����� 
���� ���
�	 
�

PEP ��� ��	��� �
������ �	��� +���	��,�
	 +����� �	 ��������� �� �����
� -�!
�� ��� ��������� .� ����������� ��� �
�	���� 
� �
��
� 
� �����	� ������ �� ��� mk

�	

 ��"/� Hn = det(PEP ) =

n−1∏
j=1

(1 − E2
j,j+1)

n∏
j=1

m2
j .


���
�� ���� 0������ 
�� �� ����� ��� �
�	����	 
� �
��
� �� ��� ��	� n = 3
���

H1 = m2
1 +m2

2 +m2
3 + 2m1m2E12 + 2m1m3E13 + 2m2m3E23,

H2 = (1− E2
12)m

2
1m

2
2 + (1− E2

13)m
2
1m

2
3 + (1− E2

23)m
2
2m

2
3

+ 2(E23 − E12E13)m
2
1m2m3 + 2(E12 − E13E23)m1m2m

2
3,

H3 = (1− E2
12)(1− E2

23)m
2
1m

2
2m

2
3.

 ��"1�

2�
� �
� 
� �� ������ ��	����� 
��	����	 �
 ��� ���� ���'
� ��	� ����mk > 0
�
� ��� k  �
 �������'
�	�� (�� ��	� ���	
� �
� ���	 �	 ���� �� ��� ���� �	� ���
�
	������� 
� H1 ��� Hn �
 	�
� ��
3�� ���	����� 
� ���'
� 	
����
�	�

������� ��/� "��

 ��"$� P = {x1 < · · · < xn, 
�� mk > 0}
#� ��� 	�
�� �	
�� ��� ��� ������� 	�
��� ������  !��� �� ��� 	��� 	�
��� �
�� $�
��� �����
� �
�
 
�� �� P� ���� ��� �������� (x(t),m(t)) ������ ��� 
�� t ∈ R� 
��
���
��� �� P 

����	� +
��� ���	����� �� P �	 ���
����� �� ���� 
� ��� 	�

����		 
� ���
()*	 ������ 4�  ��"�� ���  ��"/�� 3
�� H1 ��� Hn ��� 	������� �
	����� 
� P � �����
m2

k < H1� ��� mk ������ 3
����� ��
� �3
��� #�� �
	������� 
� Hn ��	���	 ����
��� mk ��� 3
����� ���� ��
� ���
� ��� ���� ��� �
	���
�	 ������ 
������� #��
���
�����	 ẋk ��� ��� 3
����� 3� (

∑
mk)2� ����� 0 < ẋk ≤ C �
� 	
�� �
�	���� C�

��� ��� �
	���
�	 xk(t) ��� ������
�� ����� �
� ��� t ∈ R� ����� ������� xk �
� mk

��� 3�
� �� �� ����� ����� ��� 	
����
� ���	�	 ��
3���� �� ����� �

������ ��1� #�� ���'
� ()*	  !��� ��� ��������� ����� ��� ����	�
�����
�
(m1, . . . ,mn) 	→ (−m1, . . . ,−mn)� 	
 ��� ����
�
�	 ��	��� �
��	 ��	
 ���� ��� mk

��� ���������



�������� �	�����
��
 ���	���
� �� 
�������� ��	
���
 ���

������� ���� ��� �����	��� �
 ������ H1, . . . , Hn �
 ����
�� ��� 	
� 
����

����	��� ����������� 	�� ������� ���� 
������ �� ��� ������� �
	���� ������ �� ���

������� ��	��� ������ ����� �� ��������� �����
	��� �� ��� ��	�� ��	�� P�
����	� �	 
�	�
 ������	��� ���


��
��
� 	�
 ��	��� ��
�� ���� J := dH1 ∧

dH2 ∧ . . . ∧ dHn �	
� �	� ������ 	� ��� 	

� �
� �� P � ����
 J �� ����	��� �� ��

�������
� {mk, e

xk}n
k=1� �� ������
� ��
�������� �� �� ������
� 	� �� 	

� �
�� �	 �� ��

�����
�� �	 ��	� ���� J �� �	� ��
��������  
�	� �	 �

 ����� �	�
 ����

���!"� Hk = ek(m2
1, . . . ,m

2
n) +O(Epq),

��
�
 ek �
�	�
� ��
 k�� 
�
#
����� ��##
���� ������	� �� n �������
�� ��� O(Epq)
�
�	�
� �
�#� ���	����$ 
%
	�
������ 	� ��
 
	����	�� xj � &� �� �
�� ��	�� ����
��
 '��� n 
�
#
����� ��##
���� ������	�� ��
 ���


��
�� ���
� 
�	���
 � �����
�	� ��##
���� ������	�� 	� n �������
� (��)�� ��� ��
�
�	�
 ��
 �
����$ 
��� 	� J
��
$�
����$ ��
 O(Epq) �
�#�� �	
� �	� ������� ����
 ��
 O(Epq) �
�#� ��� �

#��
 ����������� �#��� �� �����$ ��
 xk ��� �
���� �
 �

 ���� ��
�
 �� � �
$�	� ��
P ��
�
 J �	
� �	� ������� ��� �
 ��
 �	�
�

�	 
�	�
 ���� ��
 *�������
� Hk +	���	� �	##��
 ���� �
�

�� �	 ��
 �����
�
������ �� �� �	��
��
�� �	 ���
� �	#
 ��$�#
��� 	� ,	�
� ���� �
 �

��
� �	 ��

�����
���$ 	� 
������
� �� ��
 �	�� ������
 ��� ��
 ����	��� -��	$
�	.,	�
� ����
#
(��)� ��
 +	���	� �����
� 	� ��	 �	������� 	� #	��	� �� ���
�� � �	������ 	� #	��	��
�	 {Hj, Hk} �� ���


��
�� 	� ��#
� -	����
� �	� ���� �����
� �� � '%
� 
	���

(x0,m0) := (x0
1, x

0
2, . . . , x

0
n,m

0
1,m

0
2, . . .m

0
n) ∈ P

����� �
 �	����
� �� �� ������� �	�����	� �	� ��
 

��	� /	� (x(t),m(t))� �����

%���� $�	����� �� ��#
 �� ��
	�
# ���� ��
	�
# 0��� ����� ���� �
 
�	�
� ���
�
����	�� ����$ ���� �
 ��
 
�	���$ �
�
� ��	�� ���� ��
 

��	�� �����
� �� t→ −∞1
#	�
 
�
���
���m2

k �
��� �	 1/λk� ����
 ��
 xk #	�
 �
���� �	 ���� ��
 �
�#� O(Epq)
�
�� �	  
�	� �&� ��	��� ���	 �
 
	�����
 �	 
�	�
 ��
�
 �����
���$ 
�	

���
� ���
����
��	# ��
 

��	� 234�� ��	�$ ��
 ���
� 	� ���� ��� �	�
 �	� ��
 3
$��

���.+�	�
��

*����	� �� (��� ��
	�
# 5��)� ��� �
 ���
 �	� �	�
 ������ ����� ��	# ���!"��

{Hj, Hk}(x0,m0) = {Hj , Hk}(x(t),m(t))

= lim
t→−∞

{Hj , Hk}(x(t),m(t)) = lim
t→−∞

{ej, ek}(x(t),m(t)).

6	� ��
 +	���	� �����
�� 	� ��
�
 ��##
���� ������	�� ��
 $��
� �� ���
�� �	#��7
����	�� 	� ��
 +	���	� �����
�� {mj,mk} ���� �	
���
��� �


��
�� 	��� 	� ��

�#
�����
�� 8	�
�
�� ��	# ����� �� �� ��
�� ���� {mj ,mk}(x(t),m(t)) = O(Epq)→
0� ��	# ����� �� �	��	�� ���� {ej, ek}(x(t),m(t)) → 0 �� t → −∞� ��� �
��

{Hj, Hk}(x0,m0) = 0 �� �
*���
�� �


����� ��"� ����
 ��
 ��������$ 	� ��
 +	���	� �����
� �� � 
��
�� ��$
�����
�
����	�� ��
 Hk +	���	� �	##��
 �� 
��� 
	��� 	� R2n� �	� 9��� �� ��
 �
$�	� P �

��
 λk� ����� ��
 �
'�
� �� ��
  
�	� 	� A(λ)� ��
 ��
 
�$
�����
� 	� ��

���
��
 	� ��
 #����% TPEP � ����
 A(λ) = det(I − λTPEP )� :�	��
� �
��	� ���
�
 �
������ 	�� ���
���	� �	 ��
 ���
 ���� ��� mk > 0 �� ���� ��
 #����% TPEP ���
��
� �
 ��	�� �	 �
 	�������	�� ��

 �
���	� :�5 �� ��
 �


���%�� ����� �#
��
�
���� ��� 
�$
�����
� ��
 
	�����
 ��� ��#
�
� -	��
*�
����� ��
 λk ��
 ���	 
	�����

��� ��#
�
� ��� �	� �
'���
�
�� �
 ���� ��#�
� ��
# ���� ����

���!0� 0 < λ1 < · · · < λn.
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���� �����	� 
���� ���� ��	 �
	
���� �� 
������	 ��� ���
�	� �		 ��	��	� �����
������� ��� �� B = S(λ)21 ��� C = S(λ)31� �	 ��� ���� ����� ��� ����� ����

��	� ��	 
���������� �� λ �� �	��		 n− 1� ���� B(0) = M+ ��� C(0) = M2
+� ��	�	

M+ =
∑N

k=1mk e
xk �� �	���	� ���� �	��� ���� ��	 ��� ���� ����	
���

��� !� ω(λ) = −B(λ)

A(λ)
��� ζ(λ) = − C(λ)

2A(λ)

��	 �������� ���
����� �� ���	�O(1/λ) �� λ→∞� ������ 
��	� �� ��	 	��	�����	� λk�
"	� bk ��� ck �	���	 ��	 �	����	��

��� �� ω(λ) =

n∑
k=1

bk
λ− λk

, ζ(λ) =

n∑
k=1

ck
λ− λk

.

��	 ���	 	�������� �� (A,B,C)� ���	� �� ���#�� ��������	� ����

���  � ω̇(λ) =
ω(λ)− ω(0)

λ
, ζ̇(λ) = −ω(0) ω̇(λ).

$��
����� �	����	� �� ���� ���	� �� ���  � ���	�

��� %� ḃk =
bk
λk
, ċk = −ω(0)

bk
λk

=

n∑
m=1

bmbk
λmλk

.

���� �� ��
	 ��
��	� bk(t) = bk(0) et/λk � ��� ���	������� ċk(τ) ���� τ = −∞ ���&
������ ���� ck ������	� ��	�	� �� τ = t ��	� ���	�

��� �� ck =
n∑

m=1

bmbk
λm + λk

.

' 
��	�� ���	����
 
���� �� ���� �	������ �	��		� ��	 (	�� ���
������ ��� �	����� ��
���	 �	
	��	�
	 ��� ���	�������� ���� �	 ���	� �	���) �		 ��	��	� ���� (	 ���	
��	 ��	�����	�

∑n
1 ck/λk = 1

2 (
∑n

1 bk/λk)2 ���
∑n

1 λkck = 1
2 (
∑n

1 bk)2�
��	 �����
	�*�� �������� �� ������	� �� �������� ��	 ������� ���� xk(0)� mk(0)

���� k = 1, . . . , n� �	�	����	 ������� �
	
���� ���� λk(0)� bk(0)� ���
� ���	� ���	 t
���	 	����	� �� λk(t) = λk(0)� bk(t) = bk(0) et/λk ����
	 ��	 λk ��	 ��	 +	��� ��
��	 ���	&��������� 
��������� A(λ)� ��� ���
	 ��	 bk ������� ��� %��� ,������ ��	
���	��	 �
	
���� 
����	� ��� ��	�	 �
	
���� ���� �� ���	 t ���	� ��	 �������� xk(t)�
mk(t)� ��	 �	�����	� �� ��	 
�
	� �� �	���	� �� ���� ���	��	 �
	
���� 
����	��

�� ��� ���	 
���
 
�����

-��� ��*	 ��� ��	 $������./��� ��� 0	���
	���.1��
	�� 	2�������� ���	 �	���
�� ��	 "�3 
���4� �
����� 	2������ �	2������ ����� �� ���� 
��	� �	
	��	� �� �#��� �	&
���� 
�� �	 �	���	� �� � 
����	 �� ���� �	
	��	�� ��� ���	
	��	�� �������	�� (	
�	�	� �� ���� �� � "�������	 ��������������� ���
	 �� �� �	�����
	�� �� ��	 ����������&
���� ��	� ��� �������� � �	
���&���	� ,����."�������	 �
	����� �� � ���
�	 ������
����� ���� ���
���
����� �	�	��� �� ���	�	����� 
���	
���� �	��		� ��	 5���*��
	2������ ��� ��	 0	���
	���.1��
	�� 	2������� ��� ������ �� �� ����	 ��	 ���	��	
�
	
���� 
����	� �� ��*��� ��	 �� ��	 ����� �	�	��
	� �� ��	 ����� �� ��	 ����	��

������� #��� 
�� ����	��� �������

�#���
∂

∂x

⎛⎝ψ1

ψ2

ψ3

⎞⎠ =

⎛⎝0 zm(x) 1
0 0 zm(x)
1 0 0

⎞⎠⎛⎝ψ1

ψ2

ψ3

⎞⎠



�������� �	�����
��
 ���	���
� �� 
�������� ��	
���
 ���

�� ��� ���� �	�� x ∈ R
 �	�� ��
����� ����	�	���

ψ2(x) → 0, �� x→ −∞,
exψ3(x) → 0, �� x→ −∞,
e−xψ3(x) → 0, �� x→ +∞,

�����

	� ��
	������ ���� z �= 0�
 
���� ��� ������ �� ���	�����

y = tanhx,

φ1(y) = ψ1(x) coshx− ψ3(x) sinh x,

φ2(y) = z ψ2(x),

φ3(y) = z2 ψ3(x)/ coshx,

g(y) = m(x) cosh3 x,

λ = −z2,

�����

�� ��� ��
�� �
�	� ���	��� �������

�����
∂

∂y

⎛⎝φ1

φ2

φ3

⎞⎠ =

⎛⎝ 0 g(y) 0
0 0 g(y)
−λ 0 0

⎞⎠⎛⎝φ1

φ2

φ3

⎞⎠
�� ��� ��	�� 	������� −1 < y < 1
 �	�� ��
����� ����	�	���

����� φ2(−1) = φ3(−1) = 0 φ3(1) = 0.

�� ��� �	������ ���� m = 2
∑n

k=1mk δxk

 ��� �����	�� ������� ��� ����
��� m ���

g ���
�� �� 	���������� ��

����� g(y) =

n∑
k=1

gkδyk
, yk = tanhxk, gk = 2mk coshxk.

������ 	
��
��
������� �����
�

�� ��
�� 
�� ���
� ���� ���� ��� 
�� �
����
�
����� δxk

= dy
dx(xk) δyk

� �

���	�
 ���� ��� ���
� �
�
�� ����

��� ��
�� ��� � � ����
�� ���� 
� 
��
���
!�

�� �� 
�� "�������
�#$�����
 ���

���%�� ����

�� &��'� 
�

���(� ∂3
yφ = −λgφ,

��
�� ��� �� ��


�� �� � � �
�� � ��


�� Φ = (φ1, φ2, φ3) = (φ, φy , φyy))

���*�
∂

∂y

⎛⎝φ1

φ2

φ3

⎞⎠ =

⎛⎝ 0 1 0
0 0 1

−λg(y) 0 0

⎞⎠⎛⎝φ1

φ2

φ3

⎞⎠ .

��� ����
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���� ����� ��� ���*� ���
���
� 

���� 
� 
�� �
����
� ���� �� ��

�
�������� �� 
�� ����� �� ������ gk ��� �
�
����� lk = yk+1 − yk+ ��� 	��

�� ��
,��� 
�� ���� �
�
�
��

�� 
� �
!�� � � ���

����� ����

�� g(y) > 0� 
�� � �
���
��� 
��
��� ����
�� !
� 
�� ������ �� !��
����� ��-��� � 

���.�
dỹ

dy
= g(y) =

1

g̃(ỹ)
,

����� y ��� g(y) ����� 
� 
�� ��
��� ���
� �
�
�� ���*�� ��� ỹ ��� g̃(ỹ) 
� 
�� ����
���
� �
�
�� ����� ��� 
�� �
��� �� ������+ 
�� 
���������

�� ���.� 
� ��!
���� 
� ���
�
� 
� y ��� ỹ� �� 
��
 
�� ���� �� 
�� ���� 
� 
�� ��
�
��� ���
� �
�
�� ���
���
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 ����
 ���� ��������
 ��� ����� �����������

������ ���� ��� ��	��
� �� 
 ��
� ����	� ������ 
����	�	��� �	 ��� ���� ��
����	 �	 ��� ����	
�� ����	� ���
���	 ∂2

yφ = −λgφ �
� �

���� �� ��� ����� ����	���
��� 
 ���
����	�� � 
����	� �� ����	!� ������" ��� #��$�

������ ��%� &� 
 ���� 
���	 ��� ��� ��
	�����
���	 �����" �� 	��� ��
� �	�
�
	 �����	
�� ψ1 ���� ���'�" ����� �� �� ∂xψ2 = zmψ3" (∂2

x − 1)ψ3 = zmψ2�
���� ��� ����� �� (
�
��
)*��� 
�
��	� #�$ �� �� �	��	 ��
� ��� ��
	�����
���	
y = tanhx" φ(y) = ψ(x)/ coshx �
��� ��� �+
������	 (∂2

x−1)ψ �� 
 �����
�� �� φyy"
�� �� �� 	�� �
�,������� �� ��� �������	� �����
� �	 ψ3 ����� ��
 �	� ψ2 ����	��
���
�	��
	����

���� 	�� �	 �� ��	��	��
�� �	 ��� �������� �
��� ��� -��� ���� ��
	�����
���	
�

� ��� 
�������� ���	�� (ψ1, ψ2, ψ3) �� �	 �� �%��� ��

���'.�

⎛⎝φ1

φ2

φ3

⎞⎠ =

⎛⎝ Ak(λ) − λCk(λ)
−2λBk(λ)

−λAk(λ) (1 + y)− λ2 Ck(λ) (1 − y)

⎞⎠ ��� yk < y < yk+1.

��� �	���
�  
���� (A0, B0, C0) = (1, 0, 0) ���� ������
�	� �� Φ(−1;λ) = (1, 0, 0)t"

����� Φ(y;λ) =
(
φ1, φ2, φ3

)t
" 
	� 
� ��� ����� �	�
��	� y = 1 �� �
 �

���''� Φ(1;λ) =

⎛⎝An(λ) − λCn(λ)
−2λBn(λ)
−2λAn(λ)

⎞⎠ .

/	 

������
�" ��� ��	�����	An(λ) = 0 ���	�	� ��� �
������ ������
�	�� �� φ3(1;λ) =
0" �+��
� ��
� ��� �
���� ��	�����	 �� �� 
	 
������	
� ����	 
��� λ0 = 0 ����� ��
�	�� 
����	� �	 ��� �	��� �	��� 
�� ����� �� 	�� 
 ��	��
������	" ��	�� ��� -��� ����
��
	�����
���	 ���� ��� ��	� �� ��� �	��� 
� �� 	�� �	 ������� ���	 z = −λ2 = 0��

��� ���
�	�	� φ3 �� ��	��	���� 
	� 
�������� ��	�
�" ����� φ1 
	� φ2 
��

�������� ��	��
	� ���� 0��
� 
� ��� 
��	�� yk ����� ��� ��
���� g �� ��

������
1��� 
��������" 
� 
��	� �
�� 	����� k �� �
 �

φ1(y
+
k )− φ1(y

−
k ) = gk

〈
φ2(yk)

〉
,

φ2(y
+
k )− φ2(y

−
k ) = gk φ3(yk),

���'2�


	� �	 �	��� 
� 	����� k" ���� ��	��� lk = yk+1 − yk"

���'�� φ3(y
−
k+1)− φ3(y

+
k ) = lk ∂yφ3(y

+
k ) = −λ lk φ1(y

+
k ).

/	 ����� �� ���  ����� Φ ����� ���
���	� �
�� ��� ����

���'%� Φ(y+
k ) =

⎛⎝1 gk
1
2g

2
k

0 1 gk

0 0 1

⎞⎠Φ(y−k ),


	�

���'�� Φ(y−k+1) =

⎛⎝ 1 0 0
0 1 0

−λlk 0 1

⎞⎠Φ(y+
k ),

���
���� ���� /� �� �	������� ��� 	��
���	

���'3� G(x, λ) =

⎛⎝ 1 0 0
0 1 0
−λx 0 1

⎞⎠ , L(x) =

⎛⎝1 x 1
2x

2

0 1 x
0 0 1

⎞⎠ ,



�������� �	�����
��
 ���	���
� �� 
�������� ��	
���
 ���

�� ������� ���	
���	�� �
��

������ Φ(1;λ) = G(ln, λ) L(gn) . . . G(l2, λ) L(g2) G(l1, λ) L(g1) G(l0, λ)
(

1
0
0

)
.

�	 
	��	 �
	 �	�� ��������� W ��
 Z �� �
	 
��� ����� ������ �� �	

������ W (λ) = −φ2(1;λ)

φ3(1;λ)
, Z(λ) = −φ1(1;λ)

φ3(1;λ)
.

�� �� ��	�� ���� ������ �
�� �
	� ��	 �	���	
 �� �
	 �	�� ��������� ω ��
 ζ ��	�������

	��	
 �� �
	 �	�� ���	 ��		 � �!"�� �� �������#

W (λ) = −Bn(λ)

An(λ)
= ω(λ) =

n∑
k=1

bk
λ− λk

,

Z(λ) =
An(λ) − λCn(λ)

2λAn(λ)
=

1

2λ
+ ζ(λ) =

1

2λ
+

n∑
k=1

ck
λ− λk

.

����$�

�� ������	
 �	 ��� ��
��

����� �
��� ����
�

%�
�	��	��& '��
���( ��
 )*����	��(� +��, ���
�	
 �
	 
����	�	 ����� ������
���
 -	�����.��(	 ����
��� ���
������� �	 ���� ���	/� �	���� ���	 �	����� ����
�
�� ���	�& ���
 �������� ��
 ���� ����	������ ����
��� ���	�	
 �� ���� ��� �		
�

	�	� 0
	 ��	����� �����	� �� 1�	����� ��

φyyy(y) = −λg(y)φ(y) ��� y ∈ R,

φy(−∞) = φyy(−∞) = 0, φyy(∞) = 0,
�2���

�
	�	 g =
∑n

k=0 gk δyk
�� � 
����	�	 �	����	 ���
 n+ 1 ����� ����	� g0, . . . , gn ��

��������� y0 < y1 < · · · < yn3 �	��		� �
	�	 ������ ��	 n ����	 ���	����� �� �	���

l1, . . . , ln ��
	�	 lk = yk − yk−1�� )���	 φyyy = 0 ���� ���� �
	 ����� ����	�& �
	
����
��� ���
������ ��� 	1����� �	�� �	 �����	� ��

φy(y−0 ) = φyy(y−0 ) = 0, φyy(y+
n ) = 0.

4���� �
	 �������*����� φ(−∞) = 1 ��� φ(y−0 ) = 1� ��
 �
	 �������� Φ =
(φ, φy , φyy)t& ��	 ��
�

�2�!� Φ(y+
n ;λ) = G(gn, λ) L(ln) . . . G(g2, λ) L(l2) G(g1, λ) L(l1) G(g0, λ)

(
1
0
0

)
,

���
 ������	� G ��
 L �� �� ����2� ����	� 4�
	� �
	 ���������� �
�� ��� gk > 0&
�
	 *	��� �� φyy(y+

n ;λ)& �
��
 ���������	 �
	 ��	�����& ��	

0 = λ0 < λ1 < · · · < λn,

��
 �
	 �	�� ��������� ��	

W (λ) = − φy(y+
n ;λ)

φyy(y+
n ;λ)

=

n∑
k=1

bk
λ− λk

,

Z(λ) = − φ(y+
n ;λ)

φyy(y+
n ;λ)

=
1

γλ
+

n∑
k=1

ck
λ− λk

, γ =

n∑
k=0

gk,

�2�5�

���
 ��� bk > 0� 0
	� ������� �
	 �
	�����

�2� � Z(λ) + Z(−λ) +W (λ)W (−λ) = 0,



��� ������ �	 �	 
���� 
��
 ��������� ��� ����� 
�������
��

���� ����� �	 ��

���� 
� 	����� 	�� ������� �	 λ = λk� 	��	

����� ck =

n∑
m=1

bmbk
λm + λk

.

���� Z(λ) �� ������
� ��	������� 
� 	�� ����	��� W (λ) ��� 	�� ����	��	 γ�
��� ��	� 	��	 ����� �� ����	
� 	�� ���� ���� �� ��
�	��� �� ��� !�� ����"	 	��	

	�� ��
�� �� gk ��� lk ��� ��	���������� ��� 	�� ����	 ���"���	 �� ��

�� y = y+
n

���	��� �� y = 1� ��� ��#��	���� �� 	�� $��
 ����	���� ���%� �
�� ������"���
"�����	
� 	� 	�� $��
 ����	���� ��� &� ��� 	�� ���
 ��
�� �	����� ���������� �

 	��
����
	� �
�'� ��� �
�� 	��� �� 	�� ��		��� �� 	�� ���
 ��
�� �	����� ��� �����"	���
	��	 	�� n ���	����� lk ��� 	�� n+1 "���	 ������ gk ��� �

 "���	�'� ��� 	�� �������
��
�� �	���� ������"���� �� ������ 	� 	�� ����������	 	��	 	�� n "���	 ������ gk

��� 	�� n + 1 ���	����� lk ��� "���	�'� ��� 	�� ���
 ��
�� �	����� ��� ����	��	
γ =

∑n
k=0 gk �� 	�� 	��� 1/γλ �� ���%� ������"���� 	� 	�� ����	��	 2 �� 	�� 	���

1/2λ �� ��� (�� �����
∑n

k=0 lk = 2 �� 	�� 
���	� �� 	�� ��	��'�
 −1 < y < 1� )�
�������*

������� �� � ������ ���� �		 
��
� ������ gk ��� 
�������� ���
 ��� ����

����� ���	 ����� ����
� �� ������� ��� ��� 
�

������� �
� ���
	� �
������� ����

����
��	��� 0 = λ0 < λ1 < · · · < λn� �
� ��� ���	 ��
����
� ��� &� ���� 
�������

�������� �
� ������� ���+� �
� ������ �
 
������	��� ��� ����
� ���	 ��
����
 Z(λ)
�� �
����	� �������
�� �� ���  ��� ���	 ��
����
 W (λ)�

�� ������� �	�
���
 	���
��

��� ��'���� �"��	��
 "��

�� ��� 	�� ������	� ���
 ��
�� �	���� ������	� �� ��,
��'����� 	�� "���	���� ��� ������ {yk, gk}n

k=1 ��'�� 	�� �"��	��
 ��	� ������	��� ��
�����'�
��� ��� �������� {λk, bk}n

k=1 ���� ����'�
��	
�� ��'�� 	�� #��	 $��
 ����	���
W (λ)�� ��� ������"������ "��

�� ��� 	�� �������,
��� ��
�� �	���� ��� ��
'��
�� -��.� ��� �� ���� ��
� 	����
�	� 	�� ����
	�� �� �� /��	��� �� /�� �
�� -��. ���
���� �������	��� �
��	 ��'���� "��

��� �� 	��� ����� -�� �. ��� 	�� �����
���� 	��,
��� �� 0����� 
���	������
 "�
������
�� ��� -�. ��� �""
���	���� 	� ������ ��	���
����
��

�� 
���� ��	�� �� �	�	� 	�� ����
	 �� 	���� �� 	�� 
������	 ��	�������	�

D(ab)
m ��� D′m ��#��� 
�
��� ������ ��

 
����� ���� ��"
���	 �� 	�� ���	 ���	���

�0���

��� &�+�� ����� 	�� ��	�������	� ��� ��"������ �����	
� �� 	���� �� 	�� λk

��� bk�

��	
�
�
�� !� � /�""��� μ �� � ������� �� R+ �	�� "���	�'� "��	 �� 	�� ���


���� ���� 	��	 �	� �����	��

�!� � βa =

∫
κa dμ(κ),

��� �	� 
������	� ��	� ���"��	 	� 	�� 0����� �����
 K(x, y) = 1/(x+ y)�

�!��� Iab = Iba =

∫∫
κa λb

κ+ λ
dμ(κ) dμ(λ),



�������� �	�����
��
 ���	���
� �� 
�������� ��	
���
 ���

��� ������ 	
� m ≥ 1� ��� D(ab)
m 
��
�� ��� 
���������� 
� ��� m ×m ���
����

������ ����� ������ ���� Iab �� ��� ����� ���� �
�����

����� D(ab)
m =

∣∣∣∣∣∣∣∣∣∣∣

Iab Ia,b+1 . . . Ia,b+m−1

Ia+1,b Ia+1,b+1 . . . Ia+1,b+m−1

Ia+2,b Ia+2,b+1 . . . Ia+2,b+m−1

���
���

Ia+m−1,b Ia+m−1,b+1 . . . Ia+m−1,b+m−1

∣∣∣∣∣∣∣∣∣∣∣
= D(ba)

m .

��� D(ab)
0 = 1� ��
 D(ab)

m = 0 �
� m < 0�
���������� �
� m ≥ 2� ��� D′m 
��
�� ��� m×m 
����������

��� � D′m =

∣∣∣∣∣∣∣∣∣∣∣

β0 I10 I11 . . . I1,m−2

β1 I20 I21 . . . I2,m−2

β2 I30 I31 . . . I3,m−2

���
���

βm−1 Im0 Im1 . . . Im,m−2

∣∣∣∣∣∣∣∣∣∣∣
,

��
 
���� D′1 = β0 ��
 D′m = 0 �
� m < 1�

������� ��!� ����� ����	
�	� 0 < λ1 < · · · < λn 
�� b1, . . . , bn > 0� ��
��
	�� ����	�
� ��
����

���"� μ =
n∑

i=1

bi δλi
,


�� ��	 Iab �� �	� �������	��

���#� Iab =

∫∫
κa λb

κ+ λ
dμ(κ) dμ(λ) =

n∑
i=1

n∑
j=1

λa
i λ

b
j

λi + λj
bibj .

���� 	�� ������ ������	� ��
� ����� �	���� ���	� ����	��� �
���� gk� �
���� 	�� ����
����	���

W (λ) =

n∑
k=1

bk
λ− λk

=

∫
dμ(κ)

λ− κ
�� ����� ��

����� yk′ =
D(00)

k − 1
2D

(11)
k−1

D(00)
k + 1

2D
(11)
k−1

, gk′ = 2
D(00)

k + 1
2D

(11)
k−1

D′k
,

����� k′ = n + 1 − k ��� k = 0, . . . , n + 1� ��� ���	
���� ��	���� 	�� �
���� 
��
����� ��

���$� lk′−1 = yk′ − yk′−1 =

(
D(10)

k

)2

(
D(00)

k + 1
2D

(11)
k−1

)(
D(00)

k+1 + 1
2D

(11)
k

) .
������ ��� 0 ≤ k ≤ n� ��� a(2k+1)(λ) �� �	� 
����
� �� �	� ���� 2k+1 ��
����

�� �������

����� a(2k+1)(λ) = G(ln, λ) L(gn) G(ln−1, λ) L(gn−1) . . .

. . . G(lk′ , λ) L(gk′) G(lk′−1, λ),



��� �����	 �
 	
 ����
 ���� ��������
 ��� ����� �����������

����� k′ = n + 1 − k� �� ��		
 ��� 

� ������	 ��� �
 ����� ��� �
����� �
 ���
���� ����	
 �� a = a(2k+1)(λ)� ⎛⎝a11

a21

a31

⎞⎠ =:

⎛⎝P̂P
Q

⎞⎠ ,

�
����� ��
� �
 ���� �
� �
���� 
 ����� � 
����!�	
���
 ���"��	� ���� 	�

� ��
�

(P̂ (λ), P (λ), Q(λ)) 
�� ����
�	�
�� �
 λ �� ��#��� k� k� k+1� ��������$���� �
������
#
��� 
��	
��%
���
 ��
�����
�

P̂ (0) = 1, P (0) = 0, Q(0) = 0,

��� 
����!�	
���
 ��
�����
�

Q(λ)W (λ) + P (λ) = O(1), Q(λ)Z(λ) + P̂ (λ) = O(λ−1), 
� λ→∞,


� ��� ��		���� ��
�����


Q(λ)Z(−λ)− P (λ)W (−λ) − P̂ (λ) = O(λ−k−1), 
� λ→∞.
&������
# �� ������	 ���' �
 ����� ���� �����	�
�� (P̂ , P,Q) �
�(����) �
 �
������
��

��� ���*���
�� �� a
(2k+1)
31 (λ) = Q(λ) =

∑k+1
i=1 qiλ

i 
�� #�$�
 "� ��� 
�
��
#��
�
��
�
� �����	

+,��-.

⎛⎜⎜⎜⎜⎜⎝
I00 + 1

2 I01 · · · I0k

I10 I11 · · · I1k

I20 I21 · · · I2k

���
���

Ik0 Ik1 · · · Ikk

⎞⎟⎟⎟⎟⎟⎠

⎛⎜⎜⎜⎜⎜⎝
q1
q2
q3
���

qk+1

⎞⎟⎟⎟⎟⎟⎠ = −

⎛⎜⎜⎜⎜⎜⎝
1
0
0
���
0

⎞⎟⎟⎟⎟⎟⎠ .

/��	 +,�0. �
� �
�� ��
�

a
(2k+1)
31 (λ) = (−λ)(ln + ln−1 + · · ·+ lk′−1) + . . .

+ (−λ)k+1

(
g2

n

2

g2
n−1

2
. . .

g2
k′

2
lnln−1 . . . lk′−1

)
,

+,���.



� ��� ������ 

� ��#���� ���*���
�� 
�� ���
 �!��
���� ���	 +,��-. ���
# 1�
	��2�
����3

−q1 =
D(11)

k

D(00)
k+1 + 1

2D
(11)
k

=

n∑
j=k′−1

lj = 1− yk′−1,

(−1)k+1qk+1 =
D(10)

k

D(00)
k+1 + 1

2D
(11)
k

=

⎛⎝ n∏
j=k′

g2
j lj

2

⎞⎠ lk′−1.

+,���.

��� ���� �(�
���
 #�$�� 
 ���	��
 ��� yk′−1 ��#�� 
�
�� 

� �� ������ 
��� ��� yk′

+���� 1 ≤ k ≤ n + 1. 
���� ��
�	"���
#� ���� ���	��
 +,�,. ��� yk′ ����� 
��� ���

k = 0� ��
�� �� #�$�� y0′ = yn+1 = +1 "��
��� �� ��� �
� D(ab)
m �� ���
�� ��� m ≤ 0�

+��
� �� �
���� #�$�� y(n+1)′ = y0 = −1 ���
 k = n + 1 �� 
�� 
� �"$����) ����

����
�� �
 D(00)
n+1 "��
# %��� ���
 ��� 	�
���� μ �� ��������� �
 �
�� n ���
��� 4��

���� &���
��! ���. 4�"��
����
 #�$�� 
 ���	��
 ��� lk′−1 ����� ��	������ �� +,�5.



�������� �	�����
��
 ���	���
� �� 
�������� ��	
���
 ���

���� ��� ���� �	 
����� 
�������� ��������� ���� ����� ��� ������� �� ��� �����������

D(00)
k+1�

���� ! D(00)
k+1D(11)

k−1 = D(00)
k D(11)

k −D(10)
k D(01)

k .

"������� ��� ��#��� 	���$�� �� ����%!� ��&���� '� ��� #�����������( 	���$�� ���� k
�����#�� '� k − 1� (�&�� �� �)�������� 	�� 1

2 g
2
k′ lk′−1 	��� ���#� ��� �'�����

gk′ =
(
D(00)

k +
1

2
D(11)

k−1

)√ 2

D(10)
k D(10)

k−1

.

*�� 	���$�� 	�� gk′ ��������� �� ����! ��� 	������ 	��� ��� �������� (D′k)2 =

2D(10)
k D(10)

k−1 ��� ��� ������&��� �	 D′k� ���#� ��� ��������� #����+$��#�� �	 �,�-!
'����� �*�� ����������� �������� #�� ���� '� ���&�� ����#��� '� �)������( D′k
����( ��� .��� #��$��� �+$����(� ��� $���( βiβj = Ii+1,j + Ii,j+1�! �

������ �� � /� ��0� ���� ������$���� �� #����#� � #�$��� �	 �����0�� ��
����� ��� 	���$�� �� 
�������� 1��� ���$�� ���� [Q3k+2] = (−1)k+1Dk/Ak+1� ���

#����+$����� �� ���$�� '� mn−k =
D2

k

2Ak+1Ak
�� �1�21!�

�� ����	�
��
 �� ������

 ��
����
�

�

*�� ��� �	 ���� ��#���� �� 3$�� �� ����� ���� 	���$��� 	�� ��� '������� �����4

������� D(ab)
m ��� D′m� ��0�� 	��� ���� ����� 1���� ��� ���� 5������) 6�� 7$���

� ��� �	 �������� �� �������

��	
�
�

� ,��� "�� k ≥ 1� ���

tk =
1

k!

∫
Rk

Δ(x)2

Γ(x)

dμk(x)

x1x2 . . . xk
,

uk =
1

k!

∫
Rk

Δ(x)2

Γ(x)
dμk(x),

vk =
1

k!

∫
Rk

Δ(x)2

Γ(x)
x1x2 . . . xk dμ

k(x),

�,��!

�����

Δ(x) = Δ(x1, . . . , xk) =
∏
i<j

(xi − xj),

Γ(x) = Γ(x1, . . . , xk) =
∏
i<j

(xi + xj).
�,�%!

�/��� k = 0 �� 1� ��� Δ(x) = Γ(x) = 1�! 5��� ��� t0 = u0 = v0 = 1� ���
tk = uk = vk = 0 	�� k < 0�

/��� μ =
∑n

k=1 bk δλk
� ��� ����(���� tk� uk� vk ���$#� �� ��� �$�� Tk� Uk� Vk

'�����

��	
�
�

� ,�%� "�� k ≥ 0� ���
(
[1,n]

k

)
������ ��� ��� �	 k4������� �$'����

I = {i1 < · · · < ik} �	 ��� ����(�� �����&�� [1, n] = {1, . . . , n}� "�� I ∈ ([1,n]
k

)
� ���

�,� ! ΔI = Δ(λi1 , . . . , λik
), ΓI = Γ(λi1 , . . . , λik

),



��� �����	 �
 	
 ����
 ���� ��������
 ��� ����� �����������

���� ��� �����	
 �	��� Δ∅ = Γ∅ = Δ{i} = Γ{i} = 1� �
���������� 
��

λI =
∏
i∈I

λi, bI =
∏
i∈I

bi,

���� λ∅ = b∅ = 1� ����� ��� 	������	���� ΨI =
Δ2

I

ΓI
� 
��

����� Tk =
∑

I∈([1,n]
k )

ΨIbI
λI

, Uk =
∑

I∈([1,n]
k )

ΨIbI , Vk =
∑

I∈([1,n]
k )

ΨIλIbI ,

	��

Wk =

∣∣∣∣ Uk Vk−1

Uk+1 Vk

∣∣∣∣ = UkVk − Uk+1Vk−1,

Zk =

∣∣∣∣ Tk Uk−1

Tk+1 Uk

∣∣∣∣ = TkUk − Tk+1Uk−1.

�����

��� �� ���
����� U0 = V0 = T0 = 1� 	�� Uk = Vk = Tk = 0 ��� k < 0 �� k > n��

 � �	� ��� !�	

" ��	�� ��� �������� ����

	� ��� ��� �������� ��������	����

����� ��#� ��� ��� m�

���$�
D(00)

m =

∣∣∣∣ tm um−1

tm+1 um

∣∣∣∣
2m

, D(11)
m =

∣∣∣∣ um vm−1

um+1 vm

∣∣∣∣
2m

,

D(10)
m =

(um)
2

2m
, D′m =

umum−1

2m−1
.

�� 	
� �
����	� ���� �
�� μ =

n∑
k=1

bk δλk
� 	

� ������� 	�

���%� D(00)
m =

Zm

2m
, D(11)

m =
Wm

2m
, D(10)

m =
(Um)2

2m
, D′m =

UmUm−1

2m−1
.

����		��
 ���� �
� ����	
�� 	� 	
� 
������ ����	��� ������� ��� 	
� �
����	�
���� ���
� �	�
�� ��
����� ���� ��� �� ��������� ��

yk′ =
Zk −Wk−1

Zk +Wk−1
, gk′ =

Zk +Wk−1

UkUk−1
,�����

lk′−1 = yk′ − yk′−1 =
2 (Uk)

4

(Zk +Wk−1)(Zk+1 +Wk)
.���&�

��� ���������� Wk �	� �� ��	

	��� ���
����
" �� ����� �� λk 	�� bk� 	
���
��
��� ����

	 �� ������	� ����
��� '��� (���	 )�)*+,

Wk =
∑

I∈([1,n]
k )

Δ4
I

Γ2
I

λIb
2
I

+

k∑
m=1

∑
I∈([1,n]

k−m)
J∈([1,n]

2m )
I∩J=∅

b2IbJ

{
2m+1

Δ4
IΔ

2
I,JλI∪J

ΓI ΓI∪J

( ∑
C∪D=J
|C|=|D|=m

min(C)<min(D)

Δ2
CΔ2

DΓCΓD

)}
,

���-*�



�������� �	�����
��
 ���	���
� �� 
�������� ��	
���
 ���

����� Δ2
I,J =

∏
i∈I,j∈J

(λi − λj)
2� ��� �����	
���
�� ������� ��� Zk 
	 ����
��� ��

��
���
�� bi �
�� bi/λi �����������

�� ��� ���	
���
�� ����	
��

�� ����� �� ����
� ��� 	����
�� �� ��� 
����	� 	
������ 
������ �� ��� ���� �
���
��
�� 
���
��	 ��� ����

����� 	����
��� �� ������ ���� �� ��
 ��� �������	 ���
��� 
������� ���������� ���� ���� �� ��� �
�� �
� ���  
���
��� ����	������
�� �!�"��

#� ���
�� ��� ������ ���� 
� ��
	 
�
�� �� 
�
���
�� 	���� ��� 
��� 
�����
��	� ����� 
� 
	 �		���� ���� ��� mk > 0 ��� ��	� ���� x1 < · · · < xn� ��
	 �		��
$
�
�� ���������	 ���� ��� 	����
��	 ��� �������� ��%��� 
� �
�� �������� ��!� ����
������
�� ��� 	
������ ����� ���� ��� bk > 0 ��� 0 < λ1 < · · · < λn �������� "�&��
'���
�	 ������
���
(�� 
�����$���

����� 	����
��	 ��� ���� ��� ������ ��	������ ���
�� 
�
�� ��� ���� 	
��� ��� �����
�� ẋk = u(xk)2 
	 �����	 ��������
��� )��
���
���

�����	 ���� �� ��� ����� *�	� �
�� 
�����	 ����
�� ��� b$���
�� �+�&�� �����

��� 
�����	 ���� �� ��� �
��� ��� ���

�����	 �� ��� ����� 
� ���� ��� 	�,�
�����
��� �
����� )���������		� 
�����	 ��� ���

�����	 ��� ����
�� ����� %�
�� �
�� ��	�
��� ��� )��
��� �-���
��� ���	
�� �
�
	
�� �� .��� 
� ��� 	����
�� ������� ��� mk


� �/�&� ������ ��� ��
	 ��������� ����	 �� ��� �	��� 	����� -��	�
��	 ������
��
����
����
�� �� ��� 	����
�� ������ ��� ����
	
��� ���� �����	
���
�� 
������ ���
��� ����		�01��� �-���
�� 
	 ������ ���� �����	���� �� ��� 2�� �� �� ��� ��3�
��� 	��� ��	���	 ��� ����� ��� ��� '���	
��
	04����	
 �-���
�� 2��3��

������� /�&� �� ��� �	�
��	� 	� ��
��	� �� ��� n���
�	� �	����	� 	� �	���	���

���
��	� �� ����� ��

�/�&� xk′ =
1

2
ln

Zk

Wk−1
, mk′ =

√
ZkWk−1

UkUk−1
,

����� k′ = n+ 1− k �	� k = 1, . . . , n� 
�� ����� ��� ���� ��	����	� �� ����� ��

�/�+� bk(t) = bk(0) et/λk .

����	� ��� 
����	� �� ��� �����
���� ����	������
�� �!�"� 
	

xk =
1

2
ln

1 + yk

1− yk
, mk =

gk

√
1− y2

k

2
,

��
�� �
�� 
�	���
�� ����� �
��	 �/�&� �� ����� ��� ������
�� �� bk ����	 ����
�-���
�� ���+5�� �



��� ������ �	 �	 
���� 
��
 ��������� ��� ����� 
�������
��

������� ���� ��� ��	
���
	� �	����	� ��

x1 =
1

2
ln
Z2

W1
=

1

2
ln

(λ1 − λ2)
4

(λ1 + λ2)2λ1λ2
b21b

2
2

λ1 b
2
1 + λ2 b

2
2 +

4λ1λ2

λ1 + λ2
b1b2

,

x2 =
1

2
ln
Z1

W0
=

1

2
ln

(
b21
λ1

+
b22
λ2

+
4

λ1 + λ2
b1b2

)
,

m1 =

√
Z2W1

U2U1
=

[
(λ1 − λ2)

4 b21b
2
2

(λ1 + λ2)2λ1λ2

(
λ1 b

2
1 + λ2 b

2
2 +

4λ1λ2

λ1 + λ2
b1b2

)]1/2

(λ1 − λ2)
2 b1b2

λ1 + λ2
(b1 + b2)

=

(
λ1 b

2
1 + λ2 b

2
2 +

4λ1λ2

λ1 + λ2
b1b2

)1/2

√
λ1λ2 (b1 + b2)

,

m2 =

√
Z1W0

U1U0
=

(
b21
λ1

+
b22
λ2

+
4

λ1 + λ2
b1b2

)1/2

b1 + b2
,

�����

����� ��� ������� 	� ��� ��	 ��������	�� �	� m1 �� 	������� ����� ��� ��������	�
���� ��� �������� ���� ��� �	������� ��� ������	�� 	��� ��� �� ������� �� ��� ����
���
	� ����� ���� ��� 	� ������ ��� �	����	� �� ������� ��� �	�� �������� ���� ����
�	��� �� !��"� #� 	���� �	 ��������� ����� �	 ��� �	����	� ���� ������ ����� (qk, pk)

������� 	� (xk,mk)� ck ������� 	� 1/λk� ��� t0 ������� 	� (λ−1
1 − λ−1

2 )−1 ln b2(0)
b2(0)

$

���� tanhT = (b1 − b2)/(b1 + b2) ��� cosh−2 T = 4b1b2/(b1 + b2)
2� ����� T =

1
2 (c1 − c2)(t− t0)�

������� ���� ��� �����
���
	� �	����	� ��

���%�

x1 =
1

2
ln
Z3

W2
, x2 =

1

2
ln
Z2

W1
, x3 =

1

2
ln
Z1

W0
,

m1 =

√
Z3W2

U3U2
, m2 =

√
Z2W1

U2U1
, m3 =

√
Z1W0

U1U0
,

����� U0 = W0 = 1�

U1 = b1 + b2 + b3,

U2 = Ψ12 b1b2 + Ψ13 b1b3 + Ψ23 b2b3,

U3 = Ψ123 b1b2b3,

���&�

W1 = λ1 b
2
1 + λ2 b

2
2 + λ3 b

2
3

+
4λ1λ2

λ1 + λ2
b1b2 +

4λ1λ3

λ1 + λ3
b1b3 +

4λ2λ3

λ2 + λ3
b2b3,

W2 = Ψ2
12 λ1λ2 b

2
1b

2
2 + Ψ2

13 λ1λ3 b
2
1b

2
3 + Ψ2

23 λ2λ3 b
2
2b

2
3

+
4 Ψ13Ψ23 λ1λ2λ3

λ1 + λ2
b1b2b

2
3 +

4 Ψ12Ψ23 λ1λ2λ3

λ1 + λ3
b1b

2
2b3

+
4 Ψ12Ψ13 λ1λ2λ3

λ2 + λ3
b21b2b3,

���'�



�������� �	�����
��
 ���	���
� �� 
�������� ��	
���
 ���

Z1 =
b21
λ1

+
b22
λ2

+
b23
λ3

+
4

λ1 + λ2
b1b2 +

4

λ1 + λ3
b1b3 +

4

λ2 + λ3
b2b3,

Z2 =
Ψ2

12

λ1λ2
b21b

2
2 +

Ψ2
13

λ1λ3
b21b

2
3 +

Ψ2
23

λ2λ3
b22b

2
3

+
4 Ψ13Ψ23

(λ1 + λ2)λ3
b1b2b

2
3 +

4 Ψ12Ψ23

(λ1 + λ3)λ2
b1b

2
2b3 +

4 Ψ12Ψ13

(λ2 + λ3)λ1
b21b2b3,

Z3 =
Ψ2

123

λ1λ2λ3
b21b

2
2b

2
3,

�����

���

���	�

Ψ12 =
(λ1 − λ2)

2

λ1 + λ2
, Ψ13 =

(λ1 − λ3)
2

λ1 + λ3
, Ψ23 =

(λ2 − λ3)
2

λ2 + λ3
,

Ψ123 =
(λ1 − λ2)

2(λ1 − λ3)
2(λ2 − λ3)

2

(λ1 + λ2)(λ1 + λ3)(λ2 + λ3)
.

������� ��
 ���
���������� ��� ��� ������	
��� 
� ���
���� �� ��	� 0 <
λ1 < · · · < λn� ����

�����

xk(t) ∼ t

λk
+ log bk(0)− 1

2
lnλk +

n∑
i=k+1

ln
(λi − λk)2

(λi + λk)λi
, 	� t→ −∞,

xk′ (t) ∼ t

λk
+ log bk(0)− 1

2
lnλk +

k−1∑
i=1

ln
(λi − λk)2

(λi + λk)λi
, 	� t→ +∞,

����� k′ = n+ 1− k� ���������

������ lim
t→−∞

mk(t) =
1√
λk

= lim
t→+∞

mk′(t).

�� ������ 	���������	

� 	� t→ ±∞� ��� k�� �	����� ��	��� �	� ��
����� 1/λk 	��

	��
����� 1/
√
λk�

����	� ���� �� ���� � ������ �� �������
��� ��� �������� ������ b1(t) =
b1(0) et/λ1 ����� ���� ������ �� t → +∞ ���� b2(t) ����� �� ���� ����� ����
������ ���� b3(t) ���� ��� �� t → −∞ �� �� ��� ����� ��
 ������� ���� ��� �!"
���#� Uk ∼ Ψ12...k b1b2 . . . bk �� t → +∞� � ����#�� ���#
��� �� Wk ��� Zk #����
$���%#
 �� ��� ������ �����#��� �

��� ��#
 ��&������ �������� �� ��� xk ��
�������� ��� '���������()������
���%��� *�� ������� +�+,- �� ���� ����� �������� �� ���������# ���� − 1

2 lnλk�
.���� ���� ���� �����#� �� ��� ��/�������� ��� ����� ������ ��� 0�1�%�1 ���%��� ���
�!���#
 ��� ���� �� ��� '���������()������ ���%��� *�� ������� +�+2-3

������ lim
t→∞

(
xk′ (t)− t

λk

)
− lim

t→−∞

(
xk(t)− t

λk

)
=

=
k−1∑
i=1

log
(λi − λk)2

(λi + λk)λi
−

n∑
i=k+1

log
(λi − λk)2

(λi + λk)λi
.
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� �������

���� �����	�
 ���
���� ���� ��
����� ����
�	 
� 
�� �������
����� �
���
���
�� 
�� ����
��
� �� ��
��� H1, . . . , Hn �� 
�� ������� ������ ����� ��� ���
��� ��
��	 �� ���
������ ������� ����  ����� 
��


A(λ) = 1− λH1 + · · ·+ (−λ)nHn = det(I − λTPEP ),

!���� I �� 
�� n × n �	��
�
" ��
��
� ��	 T � E� P ��� n × n ��
����� 	�#��	 �"
Tjk = 1 + sgn(j − k)� Ejk = e−|xj−xk|� ��	 P = diag(m1, . . . ,mn)� ��� #��
 
���$

� ����� �� 
��
 
�� ��
��
 TPEP �� �������
��" �� ��� mk > 0� !���� ���!� 
��


�� %���� �� A(λ) ��� ����
��� ��	 ������� ���� !� ���! ��! 
� �����" �����
� 
��
������ �� PEP � ��	 #����" !� ����� 
�� &'���	� ��" �������( )������� ��*+
!���� ������� 
��
 Hk �,���� 
�� ��� �� ��� k × k ������ �� PEP �

���� ��������
����� -� 
��� ���
��� !� ���� ������
�	 ���� ���
� ����
 
�
��
����
���
" .��� ��� ��/ 
��
 !��� �� ���	 ����!�

���������� 0�*� -� X �� � ��
��
 ��	 I ��	 J ��� ��	�
 ��
�� 
�� �����
��

(Xij)i∈I,j∈J !��� �� 	���
�	 �" XIJ )�� ����
���� XI,J+� ��� ��
 �� k1������


�����
� �� 
�� ��
�$�� ��
����� [1, n] = {1, 2, . . . , n} !��� �� 	���
�	 ([1,n]
k

)
� ��	

������
� �� ���� � �����
 I !��� ��!�"� �� ������	 
� �� �������	 �� �����	��$
��	�� i1 < · · · < ik�

���������� 0��� 0 �,���� ��
��
 �� ���	 
� �� ������� ������	
 �� ��� �
� ������
�� ��� ��	��� ��� ����
���� -
 �� �����	 ������� ����
����	
 �� ��� �
� ������ ��� ���1
��$�
���� 0 ��
��
 �� ��
�������� �� �
 �� 
�
���" �����$�
��� ��	 ���� ��!�� �� �

�� 
�
���" ����
����

	
����� 0�2� ��� 
��
�	���
� �� � ������� ������	
 ������ ��
 ������	
 ��� ��
���
����
 ��������
��� ��
� ��� ���
���
 ��� ��
�������� �����

�� ��� 
��
�	���
� �� �
������� ����
����	
 ������ ��
 ����
����	
� ��� �� �
�
��� �� ��������� ��������
����

	
����� 0��� ��
 �����
� �� �� ��
�������� ������ ��� � ����������� �������
����
����	
 ������ �� ��
���������

���������� 0�3� 0 ������ �
����� (Γ, ω) �� ��	�� n �� �� ��"���� ������ 	�1
���
�	 $���� Γ !�
� ����!� $���$ ���� ���
 
� ��$�
� !�
� n ������� )���
���� !�
�
��
$���$ ����!� ���"+ �� 
�� ���
 ��	�� ��	 !�
� n ����� )���
���� !�
� �������$
����!� ���"+ �� 
�� ��$�
 ��	�� ��� ������� ��	 ����� ��� �������	 1 
� n� ����
��

�� 
� 
��� ��"� 0�� �
��� ���
���� ���� �
 ����
 ��� ����! �����$ �� ��	 �
 ����

��� ����! $���$ ��
� ���� �	$� e �� 
�� $���� Γ �� ����$��	 � ������ !��$�
 ω(e)�
��� �
���� �� � 	����
�	 ��
� �� Γ �� 
�� ���	��
 �� ��� 
�� !��$�
� �� 
�� �	$�� ��

��
 ��
�� ��� �
����
� ���� ������ Ω(Γ, ω) �� 
�� n× n ��
��
 !���� (i, j) ��
�"
Ωij �� 
�� ��� �� 
�� !��$�
� �� 
�� �������� ��
�� ���� ������ i 
� ���� j�

��� �����!��$ 
������ !�� 	��������	 �" 4��	�
�5� .��/ ��	 ��	� ������ �"
6����� ��	 7�����
 .��/� 0 ������� 
������ ���� �������	 ������� �� 
�� !��� ��
8����� ��	 9�6��$�� �� ���
� ��	 	��
� ��������� .��/�

	
����� 0�: )4��	�
�5�;� 4����+� �
� I ��� J �
 ����
�� �� {1, . . . , n}
���� ��
 ���
 
����������� ��
 ����� detΩIJ �� ��
 �
����
� ���� ������ Ω(Γ, ω)
�� � ������ �
����� �� 
���� �� ��
 ��� �� ��
 �
����� �� ��� �������
 ������
� ��
������
��

���� ����� ���
�� ����� ��	��� �� 	
���

� �� 
������ 
���

���� ��




�������� �	�����
��
 ���	���
� �� 
�������� ��	
���
 ���

������� ��	����
 	� I �� �
� ����� ��	����
 	� J � ��
� ����
� �� � ������ �� ���
� ��

����
 �� �
� ���
��� �� �
� ����
�� �� �
� ��
���
��� ���
���

��������� ���� �� ��� ����
�� ω(e) ��� ������������ �
�� �
� ����
��
 ���

������ �� ������� ������������

�	
��� ���� ����	� 
��
 ���
�� �������� ��
��
� ���� ��� 
� ����	�� 
����

�
�� ���


�

� �� 
�� ��
� ��
	
� Ω� �
��� ���� �
��	� detΩIJ ��� �� ��	� ���

� ������� �� ���
�
�	���

�� ��
� ���
�
�� �	�� I 
� J � 
� ��
�� ���� Ω 
� ����

�
���� �������

���

���� ����� �	
� TPEP �� ��
���
����� ��� ��
	
� T 
� 
�� ��
� ��
	
� ��

�� �����	 ��
��	� ����� �
	��
�	� 
� 
����
	�
�� ����� ��	 
�� ���� n = 4  �

� ���
������ ��� 
��	���	� ��� ��
�� ��� ���
�
�� �� ��
��� ���
�� ��

 ��
��
!"

1

2

3

4

1

2

3

4

#������ 
��	� 
� ����	�� ��� ��
� �	�� ���	�� i 
� �
�� j 
� i = j� 
�� ��
�� 
� i > j�
��� ���� 
� i < j� ��� 
�
� ��	��� �

�

Tij = 1 + sgn(i− j) =

⎧⎪⎨⎪⎩
1, i = j,

2, i > j,

0, i < j.

$
�
��	�� ��� ��� ����� 
��
 
�� ��
	
� PEP 
� 
�� ��
��
�� ��
� ��
	
� �� 
��
�����	 ��
��	� 
����
	�
�� ����� ��	 
�� ���� n = 5  �� �	� �����
�� 
��
 x1 <
· · · < xn� �� 
��
 E12E23 = ex1−x2ex2−x3 = E13� �
��!"

1

2

3

4

5

1

2

3

4

5

m1

m2

m3

m4

m5

m1

m2

m3

m4

m5

E12 E12

1− E2
12

E23 E23

1− E2
23

E34 E34

1− E2
34

E45 E45

1− E2
45

�� %�	����	� ���� ��
� T ��� PEP �	� 
�
���� �������

��  
� ��� mk > 0!�
&�	
��	��	�� (PEP )N 
� 
�� ��
��
�� ��
� ��
	
� �� 
�� �����	 ��
��	� ��
�
�
�� ������

�� N ���
�� �� 
�� ��
��	� ��	 PEP 
� ��	
��� ��� 
� N 
� ��	�� �������

��	� 
� ����	�� ������ �
���� 	��� 
� 
�
� ��
��	� 
� '�� � ���
�
�	���

�� ��
�
���
�� �	�� ��� ���	�� ��
 I 
� ��� �
�� ��
 J �

� |I| = |J |� ���� (PEP )N 
�

�
���� ���


�� ��	 ��(�
��
�� ��	��N ) 
� �
��	 ��	��� PEP 
� ���
���
�	��  ���
��	



��� �����	 �
 	
 ����
 ���� ��������
 ��� ����� �����������

��� �� ��� ��	� 	� �� 
�� � ��	���	�
 ���� ������� ��� ������� ��� ��	�� ���� ����
� ������� 
�

����	�� ����	� X 	� ���	������� 	� �
� �
�� 	� 	� 	� 
�
�	
�
��� �
�
Xij > 0 ��� |i− j| = 1��  	
�� T 	� 
�
�	
�
���� ������� !�" 	���	�� ���� TPEP
	� ���	�������� ��	�� ��� ��� #��� ��	
� �� ��
��� �� ������

���� ���	
� 	� PEP � $��	
� � ���
�� 
�����% ��� PEP ��%�� 	� ���� ��
����
�� 	�� �	
��� 
�	
� &	
����'�(� &�����

������� !�)� ��
�	��� ��� ��
���
� �� ���	�
 H3 	
 ��� ���� n = 6�
*�� ��
���� I = {1, 2, 3} �
� �	
%� J = {1, 2, 3} ����� 	� �
�� �
� ���	�� ��


�
	
�������	
� ������ 
����� ��� ����� ��	
� ����	��� ������� ��� ��	���� ��
����� ����� ��� m1m1� m2(1 − E2

12)m2 �
� m3(1 − E2
23)m3� �
� ��� ����� ��	���

�� ���� ���	�� 	� ��������� (1−E2
12)(1−E2

23)m
2
1m

2
2m

2
3� ��	�� �	�� +� ��� #��� ����

	
 H3�
! �	�	��� ���� ���
��� ���
���� I = J � *�� 	
���
��� ���
 I = J = {1, 2, 4}

��� ����� �����	
� �� ��
���� 1 �
� 2 �
�� �� ����	��� ������� ��	�� ��� ���� ����
��
��� 4 �� �� �	
% 4 ��
 �� ����	��� ������� �� ���
 �� �	
� 3 �
� 
� ���	
� ���
��
��	+
�	�
� ���� ����� ��� ����	+�� 
�
	
�������	
� ���� ���	�	�� ��� 
� ��

m1m1 ·m2(1− E2
12)m2 ·

(
m4(1− E2

34)m4 +m4E34(1− E2
23)E34m4

)
= (1− E2

12)(1− E2
24)m

2
1m

2
2m

2
4.

*��� I = {1, 2, 3} �� J = {1, 2, 4} ����� 	� �
� 
�
	
�������	
� ���� ���	��� �
�
����� 	� �
����� �
� �	�� ��� ���� ��	��� ���� I = {1, 2, 4} �� J = {1, 2, 3}, ���
��� ��� 
� �� ��� ���� 2(1− E2

12)(1 − E2
23)E24m

2
1m

2
2m3m4�

��
�	

	
� �	%� ��	�� �
� #
�� ���� ��� ����� �� ����� ���� ������ 	
 H3 ���

H3 = (1 − E2
12)(1 − E2

23)m
2
1m

2
2m

2
3 + . . .

+ 2(1− E2
12)(1− E2

23)E34m
2
1m

2
2m3m4 + . . .

+ 4(1− E2
12)(1− E2

34)E23E45m
2
1m2m3m4m5 + . . .

+ 8 (1− E2
23)(1 − E2

45)E12E34E56m1m2m3m4m5m6.

-!���

��� ���� ���� ����� ���� ��� 8 ����	+�� 
�
	
�������	
� ���� ���	�	�� ���� I =
{i1, i2, i3} �� J = {j1, j2, j3} ����� (i1, j1) = (1, 2) �� (2, 1)� (i2, j2) = (3, 4) ��
(4, 3)� �
� (i3, j3) = (5, 6) �� (6, 5)�

	���
� !���� !����
��	����� ��� mk ��
 +� �������� �
� ���� �
� �	
�� ��
PEP � ����	
� ��� ��������
�	
� �	
�� �� E� ��	�� ��
 +� ����
��� 
�	
� � ���
��
���� .�
������� �
� /��	
 ����  ���	�
 ���0�1�� �	
�� ��� ����	� E 	� ���� ����
���� � ��������	�
 �	�
�
� ��	� ���
� � �������	� n× n ����	� X �	�� �
��	��

-!�2� Xij =

{
ψiχj , i ≤ j,

ψjχi, i ≥ j.

��� k×k �	
��� �� � �	
���3��	� ����	� ��� �	��
 +� ��� ������	
� �
��4 detXIJ = 0�



���� I, J ∈ ([1,n]
k

)
���	��� ��� ��
�	�	�


-!�0� (i1, j1) < (i2, j2) < · · · < (ik, jk),



�������� �	�����
��
 ���	���
� �� 
�������� ��	
���
 ���

����� ��� �����	�� 
���� ���� ���� �

���� 	� ��� ��	� 

�� �� ���� ���� ����
�

���� 	� ��� ������	�� ��	�� 	� ��	� �����

����� detXIJ = ψα1

∣∣∣∣χβ1 χα2

ψβ1 ψα2

∣∣∣∣ ∣∣∣∣χβ2 χα3

ψβ2 ψα3

∣∣∣∣ . . . ∣∣∣∣χβk−1
χαk

ψβk−1
ψαk

∣∣∣∣χβk
,

�����

����� (αm, βm) =
(
min(im, jm),max(im, jm)

)
.

�� ��� ���� �� E �� ���� ψi = exi ��� χi = e−xi ����

	�� �� 
�
�� ���� x1 <
· · · < xn�� ��� ����� ����
��

����� detEIJ = (1 − E2
β1α2

)(1− E2
β2α3

) . . . (1− E2
βk−1αk

)Eα1β1Eα2β2 . . . Eαkβk
.

���� ����� �� �	
 ��
�
�
 �
� �	
��
��� ��� ���
�� �� �� ������ ���� 
���
 ��!� 	� ���� ��� ��" �"

���	� n × n 
���	# X � ��� ���$�	��� �� sk 	� ���
���"��
	�� det(I + s TX) �%
��� ��� �

 �� ��� k × k 
	���� �� X &

���'� det(I + s TX) = 1 +
n∑

k=1

⎛⎜⎝ ∑
I∈([1,n]

k )

∑
J∈([1,n]

k )

detXIJ

⎞⎟⎠ sk.

(� ����� ���
 ��� ���
�����" ���� ���� ��� ��" 
���	# Y � ��� ���$�	���� 	� 	��
���������	��	� ���"��
	�� ��� �	��� �" ��� �

� �� ��� ��������� 
	�����

det(I + s Y ) = 1 +

n∑
k=1

⎛⎜⎝ ∑
J∈([1,n]

k )

detYJJ

⎞⎟⎠ sk.

����"	�� ��	� �� Y = TX ��� ��
�
�	�� ��� 
	���� �� TX 
�	�� ��� )�
��"*+	���
���

�� ,��� )�� �� - ./

���0� det(TX)AB =
∑

I∈([1,n]
k )

detTAI detXIB, ��� A,B ∈ ([1,n]
k

)
,

�� 1�� ����

det(I + s TX) = 1 +
n∑

k=1

⎛⎜⎝ ∑
I∈([1,n]

k )

∑
J∈([1,n]

k )

detTJI detXIJ

⎞⎟⎠ sk.

)�
���	�� ��	� �� ���'�� 	� 	� ����� ���� ���� �� ���� �� ���� 	� ����� ��� ��" k�

���2�
∑

I∈([1,n]
k )

∑
J∈([1,n]

k )

detTJI detXIJ =
∑

I∈([1,n]
k )

∑
J∈([1,n]

k )

detXIJ .

��� 1��� ��	�� �� �� 	� ����
���� ��� 
	���� detTJI �

���������� ����� ����� I, J ∈ ([1,n]
k

)
	 
�� ��
 I �� �
�� 
� ��������� ��
� 
��

��
 J 	 ����
�� I ≤ J 	 ��

������ i1 ≤ j1 ≤ i2 ≤ j2 ≤ . . . ≤ ik ≤ jk.

�� 
�� 
�� �����
��
��� 
�� �
���
	 
��� I �� �
�� 
� 	������
 ��������� ��
� J 	 �� �����
�
�� �� ���
� I < J � �� I ≤ J 	 
��� I ′ 
�� J ′ ����
� 
�� �
���
�� ��
���
���� �����
�
��������� ���
��

������ I ′ = I \ (I ∩ J), J ′ = J \ (I ∩ J),



��� �����	 �
 	
 ����
 ���� ��������
 ��� ����� �����������

����� ���	
���

� �����
��� ����� �
�� �� 	���
�	 ��

������ p(I, J) = |I ′| = |J ′| .
����� ����� ��� I, J ∈ ([1,n]

k

)
� ��� �����	
���
�� k × k �
��� �� T 
	

������ detTJI =

{
2p(I,J), 
� I ≤ J,

0, ������
	�.

����	� �� �
�� ��� �
�	�
����� ����� �������� �� � �� 
�� ������ ��
���!
"�� T #
$�� 
� %��

�� ��� ���$�& 
�� �
��� detTJI �'���� 
�� 
�
�� ������ �"
"��
�
�� �" ���
�
�����

�# ��
�� ������

�# 
�� ������ ��	�� ��� 
�� ��"
� 
�	�(�	
�� J 
� 
�� �
�! ��	�� ��� 
�� �
#�
� 
�	�(�	 �� I�

��� ����" ������	� �� 
�	��

�� �� 
�� �
�� n �" T � ��� ���
� 
� 
�
$
����

��� "�� n = 1� )���
	�� �� ���

���� n > 1* ��	 ������� 
�� ���
� 
� 
��� "��
�
�� n− 1� +" ��

��� I ��� J ���
�
� n* 
�� ���
� "������ 
���	
�
��� "��� 
��

�	��

�� ����
���
�* ��	 �
!��
�� 
" I ��	 J ��
� ���
�
� n* ������� 
���� 
� ����
��� ��
� ������

�# ������ n 
� �
�! n� +" I ���
�
�� n ��
 J 	��� ��
* 
���
detTJI = 0 ������� 
���� ��� �� ��
�� #�
�# �����	& 
�
� �#���� �

� 
�� ���
�*
�
��� 
� 
�
� ���� I 	��� ��
 
�
������ �

� J �

��� ���� ����
�
�# ���� 
� 
����"��� J = J1 ∪ {n}* I = I1 ∪ {ik}* �

� ik < n�
,�
 
���

detTJI = detTJ1I1 ×

⎧⎪⎨⎪⎩
2, 
" jk−1 < ik,

1, 
" jk−1 = ik,

0, 
" jk−1 > ik,

	����	
�# �� ���
��� 
�� ��
� ������

�# ������ n �

� �
�! ik ��� 
� ����� 
��
jk−1 ��$��& 
" 

 	��� ��
* 
���� ��� 
�� �$�
����� ��
��* 
" 

 	���* 
���� 
� ���� ���
�$�
����� ��
� ���$
	�	 jk−1 = in* �
����
�� 
�� ��
� 
�
�����
� 
�� ��
� ���
�#
"��� ������ jk−1� +� 
�� ���
 
��
����* I 	��� ��
 
�
������ �

� J * ��
�� 
� 
��
�
��� 
�� I ≤ J 
" ��	 ���� 
" I1 ≤ J1* 
��� ���$
�# 
�� ���
�� �

�����	
�# 
� 
�
� �����* 
�� �
���
��� �" ���-� ���
�� 
� ���
 �� ���
 
�
���$�� 
�

����.�
∑

I,J∈([1,n]
k )

I≤J

2p(I,J) detXIJ =
∑

A,B∈([1,n]
k )

detXAB,

��	 �� ���
 ���� 
��
 
���� 
���� detXIJ 
��
 ����� ���� 
��� ���� �� 
��
��"
/���	 �
	� �(��
�� ��������
� "�� 
���� 
��
 ��� �����
� ��
� �
�� "����� "���
���
��� 
����
��� �����0

����� ���� �1���

��� ��
���� k×k �
���� �" � �����
�
� ��
�
(�� ��

�	�

I, J ∈ ([1,n]
k

)
��� I ≤ J � ����� ��� ��� 	������
� n× n ����
� X�

����2�
∑

A,B∈(I∪J

k )
A∩B=I∩J

detXAB = 2p(I,J) detXIJ .

,�"��� ���$
�# ����� ����* �� �
�� ��� 

 
� 3�
�� 
�� ����" �" 
�� ��
�

������� ��� 
�� ������ ���$� ���� 
��
 
�� ��� �� 
�� ��"
/���	 �
	� �" ����.�



�������� �	�����
��
 ���	���
� �� 
�������� ��	
���
 ���

������

��	
��
∑

I,J∈([1,n]
k )

I≤J

2p(I,J) detXIJ =
∑

I,J∈([1,n]
k )

I≤J

⎛⎜⎜⎜⎝ ∑
A,B∈(I∪J

k )
A∩B=I∩J

detXAB

⎞⎟⎟⎟⎠ ,


���� �� ���� ������ ��� ��� �� ��� ���������� ���� �� ��	
���

��	
��
∑

A,B∈([1,n]
k )

detXAB.

���� ��	
�� ������ ��� ��� ������� �� ������	 ���  ��� ���� ���� ��	
�� �� ��	
��
�� !���� �� "# ��� �"��������� ���� ��# ����� ���� (A,B) �� ��� �#�� ������ ����
�� ��	
�� ������� �$����# ���� �� ��� ���������� ���� �� ��	
��� �����# ��� ��� ����
I ��� J �� ��� �� �����
�	 %��M = A∩B� A′ = A\M � B′ = B \M � ��� ��� p ≥ 0
"� ��� ����������# �� ��� ���!���� ���� A′ ��� B′ ����# ��� ����# ���� �� p = 0�	
���� �� �� I ′ ��� J ′ "# ����������� ��� 2p �������� �� A′ ∪ B′ �� ��� �������#
����������� ����� I ′ < J ′� ��� ��� I = M ∪ I ′ ��� J = M ∪J ′	 &��������#� �� �����
����� ���� ����� ������ �� ��� ����� ���� ���� �� ��	
��� ��� �� �� ��������� ������
����� �� ��	
��	

����� �� ����� 	
��
 ��� ���� I ≤ J ��� I ′ < J ′ ��� �� '� ������ �	

��

���

|I| = |J | = k, |I ′| = |J ′| = p(I, J) = p,


��� "�  $�� ���������� ��� ������ ��� ��� ����������� 
� ���� ���������M = I∩J
��� U = I ∪ J � 
��� |M | = k − p ��� |U | = k + p	 (� ��� ������ ���� p > 0�
����� ��� ���� p = 0 �� �������) �� ������ 
��� I = J � ��� ���� "��� ����� �� ��	
*�
�����# ����� detXII 	

��� ��� U \ M �������� �� ��� 2p ���"��� 
���� "����� ������������# �� I ′

��� �� J ′	 ��� ��� ��	
*� ���� ���� ��� ����� �� ���� (A,B) �"������ "# ���������
����� 2p ���"��� ���� �
� ���!���� p����� A′ ��� B′ �� �� ��"�����# 
�# ��� �������
A = M ∪ A′ ��� B = M ∪ B′	 (���� Q ��� ���� ���) ���� ��� Q ������� ��� ���

�� ����� (A,B) ∈ ([1,n]
k

) × ([1,n]
k

)
���� ���� A ∪ B = U ��� A ∩ B = M 	 �����

�$������� detXAB� 
� ��� ���� 
���� ��� ��������� ���� �� ��	
*� ��

��	
+�
∑

((A,B),σ)∈Q×Sk

(−1)σXa1bσ(1)
Xa2bσ(2)

. . . Xakbσ(k)
,


���� Sk �� ��� ����� �� ������������ �� {1, 2, . . . , k}� ��� (−1)σ ������� ��� ����
�� ��� ����������� σ	

,�� ���� ((A,B), σ) ∈ Q × Sk� 
� ��� A
′ = A \M ��� B′ = B \M � ��� ���

�� � �σ����������� "�!������ "��
��� A′ ��� B′ �� �����
�- a′ ∈ A′ �� ������ ��

��� b′ ∈ B′ �� ��� ���# �� ��� ������� Xa1bσ(1)

Xa2bσ(2)
. . .Xakbσ(k)

�������� ������
��� ������ Xa′b′ �� � �������� �� ������� Xa′r� Xrs� 	 	 	 � Xtb′ 
���� r, s, . . . , t ∈M 	
%�� �� ��# ���� a′ ��� b′ ��� ������ �� ���# ��� ������ �� �� ���� ������	 � ���.��
���� (a′, b′) ∈ A′ × B′ 
��� "� ������ ��	
��� �� (a′, b′) "������ �� I ′ × I ′ �� J ′ × J ′�
��� �������
 �� (a′, b′) "������ �� I ′× J ′ �� J ′× I ′	 �� ���� ���� �� ��� ��� ��	
+�
����� 
��� ���� ���������� p ���� ���.�� ������ ��� 
��� 
� 
��� ���
 �� ���� ���
����� ���������� �� ����� ��� ������� ���� 
��� ������ ���� ��� ���� ��� ���������
����� �
��� ��� �������# ������ 
��� ��� �� �� ��� ���������� ���� �� ��	
*�	



��� �����	 �
 	
 ����
 ���� ��������
 ��� ����� �����������

���� �� ����� �	
� �� ��
� �
 ������� 
 ������ �
�� (a′, b′)� �	�� ��
�� �	
��
�� �	� ������� Xa1bσ(1)

Xa2bσ(2)
. . .Xakbσ(k)

� �	��� �
����� Xa′rXrs . . . Xtb′ �	
� ����

a′ �� b′ 
�� ����
��� �
 Xb′t . . . XsrXra′ � ���	 
�� �	� ������� �� �������� ������
��	�� �	� ������� �������� ���� 
 ������ �
���� Xa′b′ �  ������ ��
�� ����
���� ��
�
 Xb′a′ �! "���� �	� �
���� X �� �
�������� �	�� ���� ��� �	
��� �	� �
��� �� �	�
�������� ��� �� �	
���� �	� �

 �� �� �������� �	� ������ a′ �	��	 ���� �� �� ��
�	� ���� ���� ��� Xa′r! �� ��� �� �	� ������ ���� ��� Xra′!� 
�� ���� ����
 ��� b′� �	�
���������� ������� r, s, . . . , t ∈ M �� ��� ���������� �� 
�
 �	
��� �� �	� ��������
����� ������ ��� ��
����� �	� r �� Xa′r �� ����� ���� �	� ������ ���� �� �	� �����
�	��� �	� ��	�� r �� Xrs �� ����� ���� �	� ���� �� �	� ������� �	� ��� �������
��	� ������ �� �	�  ������! �� �	������� ������� �
 �	� ����(

A \ {a′}
)
∪ {b′} =: Ã = {ã1 < · · · < ãk}


�� (
B \ {b′}

)
∪ {a′} =: B̃ = {b̃1 < · · · < b̃k}

�����������
� 
�� 
���� ���������� �	� �
����� �� �	
� �	� ���� ������� ���� �� 
�#
������� ������ �� �
� �� �������

X
ea1

ebeσ(1)
X

ea2
ebeσ(2)

. . . X
eak

ebeσ(k)

��� ���� ���$���
 ���������� ������
���� σ̃ ∈ Sk� %������� 
 ����� �
�� �	��

�
��� ((A,B), σ) �� ((Ã, B̃), σ̃)� �	�� ����
���� �� ����������� ���	 ������� ����� �


�����
  ������ �	� �
�� �
�� 
�
��� ��� ������ 
� 
 �
�� (b′, a′) ∈ ((Ã)′, (B̃)′)
������ ��
 �	� ������� t, . . . , s, r� &��
��� �� �	� �
�����
 �� �	� �
���� X � �	�

���� �� �'�()! ������������� �� ((Ã, B̃), σ̃) �� �$�
� �� �	� ���� ������������� ��
((A,B), σ)� ������ �������
 ��� 
 ��*������ �� ����� ��������� �� �	��	�� �	� �����
�� σ 
�� σ̃ ���� ��� �$�
� �� ���+

(−1)eσX
ea1

ebeσ(1)
X

ea2
ebeσ(2)

. . . X
eak

ebeσ(k)
= ±(−1)σXa1bσ(1)

Xa2bσ(2)
. . .Xakbσ(k)

.

�� ���� �	�� ����� �	
� ��� ��	
�����
� σ̃ ��� ��� ��
� ���� �� σ ���� � �	������

���	 �� ������� ��� ��� 
��
���� ���� ���� � �
����� ���	 �� ������� �
���� �	�� ���
��
���� ��� �	� ������� ������ �	� ��� Q × Sk ���� �	� ��� ���� (Q × Sk)hostile�
���������� �� �	��� ((A,B), σ) ��� �	��	 
� ��
�� ��� ������ �
�� �� 	������� 
��
(Q × Sk)friendly� ���������� �� �	��� ((A,B), σ) ��� �	��	 
�� p ������ �
��� 
��
�������
� �	� �
����� , �� �	
� ��� �� 
�� 	������ �
��� (a′, b′) ��� �	��	 min(a′, b′)
�� ��
�����- �� 
� ���������� �� (Q × Sk)hostile �	
� �
��� �� �
�	 ���� ���	 

�
����� ���� �	
� �� �$�
� ������ ��� 	
���� �	� �������� ���� ������ �� �� 
 	������
�
�� �	
� ��  �����!� .����$�����
 �	��� ����� �
���� ���� 
�� �	� ������������
���� (Q× Sk)hostile �� �'�()! �� /���� �	� ��� �	������� ������� ��

�'�(0!
∑

((A,B),σ)∈(Q×Sk)friendly

(−1)σXa1bσ(1)
Xa2bσ(2)

. . . Xakbσ(k)
.

��� �$��� �	� ��� (Q × Sk)friendly ���	 
� �$���
����� ���
����1 ((Ã, B̃), σ̃) 
��
((A,B), σ) 
�� �$���
���� �� ��� �
� �� ���� ��� �� 
���	�� �
  ������ �������

�
���� 2
�	 �$���
����� ��
�� ����
��� 2p ��������� ����� �
�	 �� �	� p �������

�
��� �
� ������ �� ���	�� I ′ × J ′ �� J ′ × I ′� 3�������� �	� ����� ������������� ��
�	� �������� �� ��� �$���
����� ��
�� 
�� 
�� �$�
� ���������� �	� ����� ����� ���




�������� �	�����
��
 ���	���
� �� 
�������� ��	
���
 ���

�������� 	
��� 
�� ��		��
� 
�� �
�� ��
�� �
� 
 ��
�����
�� ��	������
���� ���� 
��
������ 	
��� ��������� �� I ′ × J ′�

(−1)σXi1jσ(1)
Xi2jσ(2)

. . . Xikjσ(k)
,

����� ��� 	�����
���� σ �� �������� ���������� �� ��� �����
����� ��
�� �
�� ����
����

� ���� � �!"
 �������

� �#$
 2p
∑

σ∈Sk

(−1)σXi1jσ(1)
Xi2jσ(2)

. . . Xikjσ(k)
= 2p detXIJ ,

����� �� ��
� �� �
���� �� 	�����
�� %���� ��� 	����� �� ��� ���
��� �� ��������
�� ��� ���� ��
� σ̃ �
� ��� �
��

��		�����
 ���� 
� σ ���� 
 �������� ��������
 	
�� �� ��		��� �� ���� ���� �� ����
��	������ ((A,B), σ) ���� 
 ��	
����� ��
	�� ���� ��� ������� �� U = A ∪ B ���
�����
���� �����
 
� ����� ���� �� ��� ���� 
�� �� ��� ������ 
�� ��� ���� �����
ai ∈ A ��������� �� ����� �� ��� ������	������ ����� ����� bσ(i) ∈ B� ��� ���� ��
σ ���� ���� �� ���
� �� (−1)c� ����� c �� ��� �������� ������ �� ��� ��
	��  � 
�

�� �� �&	�
����� ��� ���
� �� ���� ��� ��� ��������� �&
�	�� ���� U = [1, 8]� �����
��� ����� �� M = A ∩ B 
�� �
���� ���� ��
������ 
�� ��� ����� �� A′ 
�� B′


�� �
���� ���� �������'

1 1

2 2

3 3

4 4

5 5

6 6

7 7

8 8

A = {2, 3, 4, 5, 6, 8}
= {2, 4, 5, 8} ∪ {3, 6}
= M ∪A′

B = {1, 2, 4, 5, 7, 8}
= {2, 4, 5, 8} ∪ {1, 7}
= M ∪B′

(��
���� A′ ∪ B′ = {3, 6} ∪ {1, 7} = {1, 3, 6, 7} = {i′1 < j′1 < i′2 < j′2}� �� ��
�
I ′ = {i′1, i′2} = {1, 6} 
�� J ′ = {j′1, j′2} = {3, 7}� (������������ I = M ∪ I ′ =
{1, 2, 4, 5, 6, 8} 
�� J = M ∪ J ′ = {2, 3, 4, 5, 6, 7}� ��� ������ 	�����
���� ��
σ(123456) = 632415� ����� ��� ���
���� ��
�� ��
� σ(1) = 6� σ(2) = 3� ����) ���
�&
�	��� ��� �
���� ���
���� ����� ���� ��� ������ ��
����� ������ a2 �� A �����
��������� �� ��� ����� ��
����� ������ b3 �� B� ����� 
�� 9 ���������� �� σ �� 
� ���
	�����
����� 
�� ���� ��
	� ��������� ��	������� ��� ����−X28X34X42X55X61X87�

		�
���� ���� 
 ����� ���� �� ��� ��� � �!*
� ��� ������ 	
��� (a′, b′) ∈ A′ ×B′



��� ������ �	 �	 
���� 
��
 ��������� ��� ����� 
�������
��

��� (6, 1) �������	
 	�����
 ��� (3, 7) �	����� ��� 4, 2, 8 ∈M
� ���� ����� ��� �����	��
����� (6, 1) ∈ I ′ × I ′ ��� (3, 7) ∈ J ′ × J ′�

�� ��		 �		������� �� �����	 ���� ������� ���� ��� ���� (3, 7) �� ������� ���
��� �� ������� �
 ���	����� ��� ������� X34X42X28X87 �
 X78X82X24X43 ��� �����
��� ��� ����	���� ������� �� ���� ���  ��� ������� ��!� �� ��������� �����" ����

����� X24X43X55X61X78X82� ���� Ã = {2, 4, 5, 6, 7, 8}� B̃ = {1, 2, 3, 4, 5, 8}� ���
σ̃(123456) = 435162 ��� ���� ���!�������
� #� ���!� �� ��� ������ ��� ����� ����
��� ����	��� �� ��� ��� ���� �� ���� ������ {2, 3, 4, 7, 8} ���� ��� ����� �� ��� ���� ���
��� ������� �	�� ��� ����� 	������ ���!
� ��� ��� ����� ����	��� ��� {34, 42, 28, 87}�
����� ��� ������� ���� {43, 24, 82, 78}� #� ����� ������ ��� ��� ����������� �� ����
������ ��	
���
 ����� !����� �������� ������ ��� ������	 �������	 	���� �� ������
����� ��� ��� ������� �� ��������� ������ ��� �������� ��!���� �� ��� �� ������
���� ���� ��� ������ �� ��		����

$� ��� 	���� ���� 7 �� ���������� �� ����� ����� �� �� ��� ������ ��� ���� 87
�� 77� ���� ����� ���� 8 �� ��� 	���� �� ���� �� ��� ������ ��� ���� 28 �� 88� �����
����� ���� 2 �� ��� 	���� ������ �� ���� ���� �� � ������ ���� ��������� �� ���
��� �� ���� 8 �� ��� �����" ��%�� ������������� ��� ����� ��� ���! ���� 2 �� ���
	��� ��� �	����� �� ���� �		 ��� ����� ����� ���� �� ���� 8 �� ��� 	���� $������	

��� �������� ��!��� ��������� �� ��������� �
 ��� ����
 ��!� �� �	��� ���� � ����
���� ��� �� ���� �������� �� ���
 &��������� 	��� ����� �� ��� ��� ����	� �		��������
�� '��� ( ��	��" ��� ����� ������� ��� 87→ 77� 28→ 88� 42→ 22� 34 → 44�

1 1

2 2

3 3

4 4

5 5

6 6

7 7

8 8

Intermediate stage (after Step 1)

1 1

2 2

3 3

4 4

5 5

6 6

7 7

8 8

Result of the flip (after Step 2)

#� '��� )� �� ���� ��!�	��	
 �� ��� ���������� ����* ���� 3 �� ���������� ��
����� ����� �� �� ��� ������ ���� 44 �� 43� ��� �� ��� ��� 	��� �� ���� !����
�� 44 → 43� 22 → 24� 88 → 82� 77 → 78� �#� ��� ����� �� ��� ����� �� ���
���� ��� �������� ��!��� ����� ��� ��� �� 8� �����
��� ��� �	��! ���� σ̃ �� �� ����
���!��������


�� ���� �� ���� ����� �� ��� ������� �� ��� �������� ��!��� ������ �
 �	�����
������ ����� ���� ����� ���� ���� ����� �������� �� ���!� ���� �� !��� ����	
 ����
�
 ��		����� ��� ������ 	���� �� ���  ������ ��� �������� ������� ��� ����� ���� ���
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��
 ���	���
� �� 
�������� ��	
���
 ���

������ ��	
� �	��
�� ��� �	������� ��� ������ �� ���� �� �� ��� ������ �� 
	����
�������� �	��� 
�� ��
	�� �������� �	��
� ��
� �����
��� 
�� �����	��� ����� 	
�
����� �	

 �� 
�� ���� ������ ��� ��
�� 
�� �	�� �� �� ���� 	� ���
 ��
� ����
 ���
���� 
	��� �� ���� � ������� ������ ����� ���� ����	�� ����� 	� 
�� �����
� ���
{1, 5, 6}��

�� � ����	�� ���� ��
���	�� 
�M 	� ������ 	�  
�� !� 
��� 	
 	� ������ 
�� ����
������ �� 
	��� 	�  
�� " �� ��

� �	��� 
�� ����� 	�M ��� ������ ��
� �� 
�� 
��

��� �� 
�� �	��
� ��������� 
��� �� ��
 �#��
 
�� ���	
� �� 
�� �����	�� ������
�	
���� ��� �� ��� 	����� 
�� ����� ������ �	
� �	������� ��� ��
� 
��� �
 
��
������� ����	�
 ����� ��

 
�� ����� 	� A′ ��� B′ �����
 ��� 
�� 
�� ��
	�� �����

��
 ��� ��	�� �	������

$���	�� ����� ��
���	�� 
� A′ ��� ����
�� ��
� 	�  
�� ! ��� ����	�� �����
	� B′ ��
� 	�  
�� "% 
��� ��
 ����
�� �� �

 ������ �� 
	��� 	� 
��� 
	� ��
���� 
��

�� �	���� ����� �
	�� ���� 6 	� 
�� �����
�� ����
�� ������ ��� �� ���� ������
�� 
	��� �
����	�� �
	�� ���� 1� ����� ����
���� &����'���

�� ���
 ��
���	���
���
��� 
�� ���	
� �� 
�� �����	�� ������ ������� 	� 
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�� ���	� �	
�� �	��� n ����
� ����
	��� x = xk(t) ���� 
��
 x1(t) < · · · <
xn(t)� 
�
 x0(t) = −∞ ��� xn+1(t) = +∞� ��� 
�
 Ωk ���� k = 0, . . . , n� ����
� 
��
���	�� xk(t) < x < xk+1(t) 	� 
�� (x, t) �
����
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 �� ����
� PC∞� ����	�
	�� ��
�	����	�� ����
� ����
	��� f(x, t) ���� 
��
 
�� ���
�	�
	�� �� f 
� ���� ���	��

Ωk 	� �
�� ���
�	�
	�� 
� Ωk ��� � ����
� ����
	�� f (k)(x, t) ��)��� �� �� ����
��	���������� �� Ωk ��� 
��
 f (k) ��� 	
� ���
	�
 ���	��
	��� ���� ����� �� 
��
������ x = xk(t)�� 2�� ���� )��� t� 
�� ����
	�� f(·, t) ��)��� � ����
�� �	�
�	��
	��
Tf 	� 
�� �
��� D′(R)� ������	�� ������
�	��

� �� t ���� ��	

�� Tf (t) �����
�������� (�
�� ���	�� ���� �
��� ����
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��� �� f �� 
�� ������ x = xk(t) ���� ��
 �� ��)���% 
�� ����
	�� ��)���

�� ���� �	�
�	��
	�� Tf �� ��

�� ���
 ��
��� ��� ���	���� 
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 �� ����
�� �� f(x−k ) := f (k−1)(xk) ��� f(x+

k ) := f (k)(xk)�



��� �����	 �
 	
 ����
 ���� ��������
 ��� ����� �����������

����������	
� �
� ���� ��� �
� ������� �� f �� xk ��		 �� ������� �


�����
[
f(xk)

]
:= f(x+

k )− f(x−k ) ���
〈
f(xk)

〉
:=

f(x+
k ) + f(x−k )

2
,

����������	
� �
�
 ������
 �
� ������� ��	��

�����
[
fg
]

=
〈
f
〉[
g
]
+
[
f
]〈
g
〉
,

〈
fg
〉

=
〈
f
〉〈
g
〉

+ 1
4

[
f
][
g
]
.

�� ��		 ��� ���������� �� ������ ������	 ����������� �� �
� �	������	 ������ ��
�
�� ���� � ���	�� fx ������� �
� ��������� �����
 �������� �
��� ����������� ��
Ωk �� ����� �
 ∂f (k)/∂x ���� �
��� ��	��� �� x = xk(t) ��� �� ������	 ����!�����
"� �
� ��
�� 
���� Dx ��		 ������ �
� �������������	 ����������� �
��
 �� ��������
���#� �� $���� ��	�� ������������� ���� ���� ��������������� �� f �� �
� ������
x = xk(t)� �
�� ��� DxTf = Tfx

+
∑n

k=1

[
f(xk)

]
δxk

� ��� �� 	��� ������ ���������

���%� Dxf = fx +

n∑
k=1

[
f(xk)

]
δxk

.

�
� ���� ���������� Dt �� ��!��� �� � 	���� �� D′(R)�

���&� DtTf(t) = lim
h→0

Tf (t+ h)− Tf (t)

h
,

��� �� �������� ���
 Dx �
 �
� ���������
 �� Dx �� D′(R)� '�� ��� �	��� PC∞ ��
��������� �����
 ���������� �� 
��� DtTf = Tft

−∑n
k=1 ẋk

[
f(xk)

]
δxk

� �� ����	


���(� Dtf = ft −
n∑

k=1

ẋk

[
f(xk)

]
δxk

,

�
��� ẋk = dxk/dt� �� �	�� ���� �
�� d
dtf(x±k (t), t) = fx(x±k (t), t) ẋk(t)+ft(x

±
k (t), t)�

�
��
 �����

d
dt

[
f(xk)

]
=
[
fx(xk)

]
ẋk +

[
ft(xk)

]
,

d
dt

〈
f(xk)

〉
=
〈
fx(xk)

〉
ẋk +

〈
ft(xk)

〉
.
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���� ��� ��	
��� 	
 ������������	�� *� �
� �������� f �� ���������� ��
x = xk� �
�� �
� $���� ��	�� �� xk ��� �� ��	���	��� �
 �
� ������������� ������+
������ Tf ��������� �� �
� ��		+#���� �����	�

���,� Tf δx = f(xk) δxk
.

��� ��	�� �� ��		 
��� �� �������� �
�� ������� ��� ��������� �� �
� �	��� PC∞

��������� ������ �
��� �
� ��	�� f(xk) �� ��� ��!���� *� ��		 ���� ��� �
�� ��
�
� ������� ����� �� �
� ���
� �
��� �� �� �� �� ��� �
� ������� ��	�� �� f �� �
�
����� ��� �
�� ��!�� Tf δx :=

〈
f(xk)

〉
δxk

� -������� ����� �� ���� �
�� �� ��
� �����.����� �� �
� ���	
���� ���
�� �
�� �� � ������ ����������� �� ��		� ��
����� ���
� ���� ������ � 

���
�����	 ��	�� f(xk) ��� ��� �
�� ��	�� �� ���,��
�
�� ���������� �� �����!�� �� �
� ������� ����� �� �� �� ��		 ��� ��	��� -�������
�� ��� ��� �	������ �
�� �
�� ��������� ��
 �� �
� ������ ������/ ��� � ���	�� �
��
���������� ���� ��� ������� �
� ������� ��������� �� ��������� ���������� ����������
0�� 1��� 2
� (3 ��� ���� ����������� ����� �
� ���������	 ����	��� ���������� ���

��
 ������� �� ��!�� � ������� �� ������������� �� D′(R)�
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� �
� �
��� ������ ���	
����

�
��� u(x, t) =

n∑
k=1

mk(t) e−|x−xk(t)|

������ 
� 
�� ��������� ����
� ����� PC∞� ���� ��� ���
��	�	� ��� ��
����

Dxu = ux =
n∑

k=1

mk sgn(xk − x) e−|x−xk|,

D2
xu = Dx(ux) = uxx +

n∑
k=1

[
ux(xk)

]
δxk

= u+

n∑
k=1

(−2mk) δxk
,

����� �������

�
��� m := u−D2
xu = 2

n∑
k=1

mk δxk
.

��� ��� ���� � �!�"� �#� ���� ��$��$� 
�� �	��
���� u ��� Dxu% �� ���� �� 
�� �	����
����	��� ���
���	
��� m� &� ���� 
��� ψ1% ψ2% ψ3 
� �� �	��
���� �� PC∞% ���
������
� 
�� ���	��� ��	��
���� ���
 ���� 
�� ����	��� �'���� ���
�� ���
� ���
����	��
��� ��
����� �� 
��� ��� �����

�
�!(� DxΨ = L̂Ψ, DtΨ = ÂΨ,

����� Ψ = (ψ1, ψ2, ψ3)
t%

�
�!!� L̂ = L+ 2z

(
n∑

k=1

mk δxk

)
N, L =

⎛⎝0 0 1
0 0 0
1 0 0

⎞⎠ , N =

⎛⎝0 1 0
0 0 1
0 0 0

⎞⎠ ,

���

�
�!#� Â = A− 2z

(
n∑

k=1

mk u(xk)2δxk

)
N, A =

⎛⎝−uux ux/z u2
x

u/z −1/z2 −ux/z
−u2 u/z uux

⎞⎠ .

)�
� 
��
 �
�!(� ��$��$�� �	�
������� NΨ = (ψ2, ψ3, 0) �� δxk
% ��� ���� $��	�

ψ2(xk) �	�
 �� �������� �� ����� ��� 
��� 
� �� ����*��+��� ��� ���� ���� ��� 
��

ψ3 �	�
 �� ���
��	�	� ��� 
�������� �
 �� ���� ψ2 
��
 ������
� ��� ����������

������� 
�!� �������� �	
� �	� �����
� mψ2 �� ������ ����� �	� 
���
��

�
��� ψ2(xk) :=
〈
ψ2(xk)

〉

� �	� ������

�
�!,� mψ2 := 2

n∑
k=1

mk

〈
ψ2(xk)

〉
δxk

,

�	� ��������� ��
������ 	����� ���	 u 
�� m ����� �� �
�����
���� 
�� ���	 Ψ ∈
PC∞� �	� �
� �
�� �
�!(���
�!#� �
������ �	� 
���
�������� 
�������� DtDxΨ =
DxDtΨ �� 
�� ���� �� �	� ��
���  !"� �,� � 
�� �
������# ẋk = u(xk)2 
�� ṁk =
−mk u(xk)

〈
ux(xk)

〉
�

����	� -�� ��������
�% �� ���� ���
� .	�

∑

���
��� ��
∑n

k=1� /���
������

���0����
� �� δxk
�� 
�� 
�� ��� �1	�
���� �
�!(� �������
��� ��$��

[
Ψ(xk)

]
=

2zmkNΨ(xk) ���−ẋk

[
Ψ(xk)

]
= −2zmku(xk)2NΨ(xk)% ������
�$���� ��	�% [ψ3(xk)] =



��� �����	 �
 	
 ����
 ���� ��������
 ��� ����� �����������

0 ��� ����� 	��
�� ψ3 �� 
���������� ��
 ẋk = u(xk)2� ���� 	� 
������ ��� 
������
����� �� �������

Dt(DxΨ) = Dt(LΨ + 2z
(∑

mk δxk

)
NΨ)

= L(ÂΨ) + 2zN
∑

d
dt

(
mkΨ(xk)

)
δxk

− 2zN
∑

mkΨ(xk)ẋkδ
′
xk
,

Dx(DtΨ) = Dx(AΨ− 2z
(∑

mk u(xk)2δxk

)
NΨ)

= (AΨ)x +
∑[

AΨ(xk)
]
δxk

− 2zN
∑

mkΨ(xk)u(xk)2δ′xk
.

��� ������� ���� �� ������ ����� Ψx = LΨ� �� ���� (AΨ)x = AxΨ + ALΨ� ��

�� �� ����� ����!�
 ���� LA = Ax + AL ���
� �
����
��� ����
� uxx = u�� ����
������� ���� ��� ������� ����� �� ��� �	� ����������� �"��� ��� �#���� ��
 ���
����� ��������� δ′xk

��� ���� �#��� ���
� ẋk = u(xk)2� ��������� ��� 
������"���� 

��
����� Dt(DxΨ) = Dx(DtΨ) ��
�
�� �� �� �#����� "��	��� ��� 
��$
�����
�� δxk

�

����%� −2zmku(xk)2LNΨ(xk) + 2zN d
dt

(
mkΨ(xk)

)
=
[
AΨ(xk)

]
.

&���� ��� ���
�
� ���� ���'�� ��� ���������� ���
[
Ψ(xk)

]
�"���� ��


[
ux(xk)

]
=

−2mk� 	� !�
 ���� ��� ���������
 ��
� �� ����%� �#����

����(�
〈
A(xk)

〉
2z mkNΨ(xk) +

[
A(xk)

]〈
Ψ(xk)

〉
=

2zmk

(
0 −u

〈
ux

〉 〈
ux

〉
/z

0 u/z −1/z2

0 −u2 u/z

)
xk

Ψ(xk) + 2mk

(
u −1/z −2

〈
ux

〉
0 0 1/z
0 0 −u

)
xk

〈
Ψ(xk)

〉
.

��� �)�'� ���� −u2 �� ��� ������ �� ��� !��� ���� 	��� 
��
�� ������� ��� 	����
!��� ���� �� ��� ��������
 ��
� �� ����%�� ���
� ��� ��� ���*��� ���� �� LN ��
(LN)32 = 1� ���� ����%� �� �#�������� ��

����+� ṁk NΨ(xk) +mk N
d
dtΨ(xk) =

mk

(
0 −u
〈

ux

〉 〈
ux

〉
/z

0 u/z −1/z2

0 0 u/z

)
xk

Ψ(xk) +mk

(
u/z −1/z2 −2

〈
ux

〉
/z

0 0 1/z2

0 0 −u/z

)
xk

〈
Ψ(xk)

〉
.

�� ��,� �� 
���� ��	 ��� ���������� ����)� ������ ��� ������ 	� 	��� �� ����

��������� � ����� �� ψ2(xk) ��� �� ���� �� �����"��� ��������� 	� 
��-� 
������
d
dtΨ(xk) #����  ��� ���

〈
Ψ(xk)

〉
�� 	����
�!��
� ��
 ��� ���� 
��������� 
�� "�


������
 ����� Ψx = LΨ ��
 Ψt = AΨ �� ���+��

N d
dt

〈
Ψ(xk)

〉
= N

〈
LΨ(xk)

〉
ẋk +N

〈
AΨ(xk)

〉
= N

(
Lu(xk)2 +

〈
A(xk)

〉)〈
Ψ(xk)

〉
+N 1

4

[
A(xk)

][
Ψ(xk)

]
=

(
u/z −1/z2 −

〈
ux

〉
/z

0 u/z u
〈

ux

〉
0 0 0

)
xk

〈
Ψ(xk)

〉
+ 1

4 N
[
A(xk)

]
N︸ ︷︷ ︸

=0

2z mkΨ(xk).
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� ��� �� ��	�
������	 �
�	� ���
 ��
���� �
 ���� �

〈
ψ3

〉
(xk) = ψ3(xk)� 
���
 ����

��� ���
��������� ��	�����	 ������ ��	 �� ������	 �


������ mkN
d
dt

(
Ψ(xk)− 〈Ψ(xk)

〉)
+
(
ṁk +mku(xk)

〈
ux(xk)

〉)
NΨ(x)

= mk

(
0 0 0
0 u/z 0
0 0 0

)
xk

(
Ψ(xk)− 〈Ψ(xk)

〉)
��� ����� ��� �
 ����� �	� ���  �
� ��� ���
 
�� ����(

ṁk +mku(xk)
〈
ux(xk)

〉)
ψ2(xk) = −mk

d
dt

(
ψ2(xk)− 〈ψ2(xk)

〉)
,(

ṁk +mku(xk)
〈
ux(xk)

〉)
ψ3(xk) = 1

zmk u(xk)
(
ψ2(xk)− 〈ψ2(xk)

〉)
.

�� ���
 
��	� �� ����
� �� �

��	 ψ2(xk) :=
〈
ψ2

〉
(xk)� �	� ���	 �� �
 ����� ����

������ �
 
���
 �� �� �	� �	�� ��

ṁk = −mku(xk)
〈
ux(xk)

〉
.
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�"��� ������� ���	
���� �#$�%&'�(')� �***�

�+� �����	
 ���
�� ����
 �� ��������	� ��
 ����� �������
���� ��
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 ��� �
������

� ���� �	 ,
��� �
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�/� ��	� ��	� 
�� ������
 0�������� ��
 ����� �������
���� 1����2 ,� 	�� � ��
 � 
2� ���
��
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